

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

February 4, 2025

#### Pay Estimate Created Date: September 2, 2025

February 4, 2025

Progress Estimate Number 15	Contract ID Prime Contractor	241018 Emery	l-D01 Sapp & Sons, Inc.	•	riod Start riod End	_	st 16, 2025 mber 1, 2025	Original Contract Amou Net Change Order Amou Current Contract Amour	ınt	\$10,991,730.65 \$382,777.96 \$11,374,508.61
Approval Date										By User
September 2, 2025			Generated an	nd Approv	roved (and should be considered Draft) at the Project Office Level by					jessem1
September 2, 2025			Reviewed and Ap	proved (a	nd should b	e consi	dered Draft) at	the Resident Engineer Leve	l by	kronej1
September 4, 2025	Reviewed and Approved at the Central Office Controllers Office Level by						l by	ramses1		
Original Completi	on Date	Current C	ompletion Date	Ac	Actual Completion Date % of Current Contract Amount Co				Complete	
November 30, 2	2026	Novem	ber 30, 2026					44.71%		
	Contra	ct Informa	tional Dates					Milestones		
Date Description	Original Comple	tion Date	Current Completion	on Date			No Milestones	Exist for Contract		
Acceptance Date										
Awarded Date	November 8, 202	4	November 8, 2024							
Letting Date	October 18, 2024		October 18, 2024							
Notice to Proceed Date	December 9, 202	4	December 9, 2024							

Contract Total Page 1	ay For Estimate No. 15			
		This Estimate	Previous	To Date
241018-D01				
	Total Posted Items Pay	\$934,058.48	\$4,151,810.26	\$5,085,868.74
	Gross Item Adjustments	(\$81,003.46)	\$133,200.60	\$52,197.14
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$4,285,010.86	\$5,138,065.88
Contract Total D	avable This Estimate:	\$253 055 02		

#### tems Paid This Estimate Period

Work Began Date

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
5P3433	0060	2063000	CLASS 3 EXCAVATION	CUYD	\$4.950	438	\$2,168.10
	0800	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.250	1,113.800	\$13,644.05
	0100	4010150	TYPE A2 SHOULDER	SQYD	\$74.000	1,479	\$109,446.00
	0180	6085008	PAVED APPROACH, 8 IN.	SQYD	\$77.000	1,113.800	\$85,762.60
	0220	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	CUYD	\$48.000	73.600	\$3,532.80
	0230	6096042	PLACING TYPE 2 ROCK DITCH LINER	CUYD	\$19.500	73.600	\$1,435.20
	0340	6161025	CHANNELIZER (TRIM-LINE)	EA	\$21.500	76	\$1,634.00
	0560	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$80,000.000	0.050	\$4,000.00
	0590	7250312A	12 IN. PIPE GROUP B	LF	\$50.000	47	\$2,350.00
	0600	7250315A	15 IN. PIPE GROUP B	LF	\$65.000	18.300	\$1,189.50
	0670	7261015	15 IN. PIPE GROUP A		\$94.000	46.500	\$4,371.00
	0710	7261048	48 IN. PIPE GROUP A	LF	\$265.000	40	\$10,600.00
	0720	7269903	MISC.48 IN. HDPE PIPE	LF	\$230.000	114	\$26,220.00
	0770	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	FT	\$865.000	1	\$865.00
	0780	7319903	MISC.CITY OF COLUMBIA TYPE M DROP INLET 5 FT X 3 FT	LF	\$765.000	13	\$9,945.00
	0860	7320015A	15 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	EA	\$450.000	1	\$450.00
	1030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$15.250	248.100	\$3,783.53
	1040	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	SQYD	\$86.000	4,649.700	\$399,874.20
	1130	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$9.650	8,000	\$77,200.00
	1240	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	LF	\$19.000	166	\$3,154.00
	1530	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	LF	\$13.750	110	\$1,512.50

Revision 9/2/2025 Page 1 of 35

\$934,058.48



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Progress	Contract ID	241018-D01	Pay Period Start	August 16, 2025	Original Contract Amount	\$10,991,730.65
Estimate Number	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End	September 1, 2025	Net Change Order Amount	\$382,777.96
15					Current Contract Amount	\$11,374,508.61

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3433	1570	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	LF	\$21.000	180	\$3,780.00
	1640	9029100	BASE, CONCRETE	CUYD	\$1,550.000	6.020	\$9,331.00
	2210	6039902	WATER	EA	\$1,650.000	7	\$11,550.00
	2220	6039902	WATER	EA	\$12,770.000	2	\$25,540.00
	2280	6039903	WATER	LF	\$160.000	670	\$107,200.00
	2290	6039903	WATER	LF	\$110.000	52	\$5,720.00
	5012	7319913	MISC.PRECAST CONCRETE DROP INLET 7 FT X 3 FT (TYPE S)	FT	\$1,300.000	6	\$7,800.00
Project J5P34	I33 - Total						\$934,058.48

#### Contract Adjustments This Estimate

Overall - Total

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
5P3433	0080	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-3,280.95000	\$12.25	(\$40,191.64)
	0080	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	3,280.95000	\$12.25	\$40,191.64
	0100	TYPE A2 SHOULDER	Material			-1,837	\$74.00	(\$135,938.00)
	0100	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	1,837	\$74.00	\$135,938.00
	0180	PAVED APPROACH, 8 IN.	Material			-1,182.80000	\$77.00	(\$91,075.60)
	0180	PAVED APPROACH, 8 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	1,182.80000	\$77.00	\$91,075.60
	0340	CHANNELIZER (TRIM-LINE)	Overrun			-76	\$21.50	(\$1,634.00)
	0590	12 IN. PIPE GROUP B	Material			-97.70000	\$50.00	(\$4,885.00)
	0590	12 IN. PIPE GROUP B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	97.70000	\$50.00	\$4,885.00
	0590	12 IN. PIPE GROUP B	Overrun			-46.70000	\$50.00	(\$2,335.00)
	0630	30 IN. PIPE GROUP B	Material			-32.60000	\$108.00	(\$3,520.80)
0	0630	30 IN. PIPE GROUP B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	32.60000	\$108.00	\$3,520.80
	0640	36 IN. PIPE GROUP B	Material			-43.50000	\$129.00	(\$5,611.50)
	0640	36 IN. PIPE GROUP B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	43.50000	\$129.00	\$5,611.50
	0680	24 IN. PIPE GROUP A	Material			-31.30000	\$117.00	(\$3,662.10

Page 2 of 35 Revision 9/2/2025



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Estimat	gress e Numi 15	Contract ID ber Prime Contractor	241018-D01 Emery Sapp & Sc		Pay Period End September 1, 2025 N	Priginal Contract An let Change Order A Eurrent Contract Am	mount	\$10,991,730.65 \$382,777.96 \$11,374,508.61
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
5P3433	0680	24 IN. PIPE GROUP A	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	n	\$117.00	\$3,662.10
	0690	30 IN. PIPE GROUP A	Material			-240	\$128.00	(\$30,720.00
	0690	30 IN. PIPE GROUP A	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0010) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	ı	\$128.00	\$30,720.00
	0710	48 IN. PIPE GROUP A	Material			-40	\$265.00	(\$10,600.00
	0710	48 IN. PIPE GROUP A	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	ı	\$265.00	\$10,600.00
	0840	MISC.	Material			-55	\$1,500.00	(\$82,500.00
	0840	MISC.	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	ı	\$1,500.00	\$82,500.00
	0920	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material			-1	\$925.00	(\$925.00
	0920	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	ı	\$925.00	\$925.00
	0950	SEEDING - COOL SEASO GRASSES	ON Material			-1.84000	\$2,100.00	(\$3,864.00
	0950	SEEDING - COOL SEASO GRASSES	ON Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0014) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1	\$2,100.00	\$3,864.00
	1020	SILT FENCE	Material			-1,759	\$2.90	(\$5,101.10
	1020	SILT FENCE	Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	ı	\$2.90	\$5,101.10
	1030	TYPE 5 AGGREGATE FO BASE (6 IN. THICK)	DR Material			-7,268.60000	\$15.25	(\$110,846.15
	1030	TYPE 5 AGGREGATE FO BASE (6 IN. THICK)	DR Material		This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 5 the current Payment Estimate.	n ,	\$15.25	\$110,846.15
	1030	TYPE 5 AGGREGATE FO BASE (6 IN. THICK)	OR Overrun			-247.60000	\$15.25	(\$3,775.90
	1040	CONCRETE PAVEMENT IN. NON-REINFORCED 1 FT. JOINTS)				-3,668.88800	\$86.00	(\$315,524.37
	1040	CONCRETE PAVEMENT IN. NON-REINFORCED 1 FT. JOINTS)			This adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	ı	\$86.00	\$315,524.37

Revision 9/2/2025 Page 3 of 35



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Estimat	gress e Numi 15	Contract ID ber Prime Contractor	241018-D01 Emery Sapp & So		Pay Period Start Pay Period End	August 16, 2025 September 1, 2025	Net Cha	l Contract An ange Order A t Contract Am	mount	\$10,991,730.65 \$382,777.96 \$11,374,508.61	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
J5P3433	1040	CONCRETE PAVEMENT ( IN. NON-REINFORCED 15 FT. JOINTS)						-247.60000	\$86.00	(\$21,293.60)	
	1090	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	R Material					-2,503	\$12.75	(\$31,913.25)	
	1090	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	R Material		generated Mater Adjustment (002	offsets the original sys ial Payment Estimate I 0) due to user jessem′ nent Estimate Exceptionent Estimate.	Item 1	2,503	\$12.75	\$31,913.25	
	1100	CONCRETE PAVEMENT (IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Strength Adjustment	strength for Line price = \$76.50/S 105.0. SY in Lot with the Missouri Transportation S 502.15.14: PFtot (0.5)PFcompress	ment for compressive 1100 pay factor. Lot #Y. Strength pay factor 1 = 769 SY. In according the payment of it the strength of t	= ance Sec.			\$1,470.71	
	1100	CONCRETE PAVEMENT ( IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Strength Adjustment	for Line 1100 pa \$76.50/SY. Strer Lot 2 = 970 SY. I Missouri Departr Standard Specifi PFtotal = (0.5)PF (0.5)PFcompress	ment for compressive s y factor. Lot #2. Unit pingth pay factor = 105.0 In accordance with the ment of Transportation ications Sec. 502.15.14 Thickness + sive strength. 970 SY 305*0.5) = \$1,855.13.	rice = 0. SY in			\$1,855.13	
	1100	CONCRETE PAVEMENT ( IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Strength Adjustment	for Line 1100 pa \$76.50/SY. Strer Lot 3 = 764 SY. I Missouri Departr Standard Specifi PFtotal = (0.5)PF (0.5)PFcompress	ment for compressive s y factor. Lot #3. Unit pingth pay factor = 103.5 In accordance with the ment of Transportation ications Sec. 502.15.14 Thickness + sive strength. 764 SY 3035*0.5) = \$1,022.81.	rice = 5. SY in 4:			\$1,022.81	
	1100	CONCRETE PAVEMENT ( IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Thickness Adjustment	1100 pay factor. \$76.50/SY. Thick in Lot 1 = 769 S\ Missouri Departr Standard Specifi PFtotal = (0.5)PF (0.5)PFcompress	ment for thickness for L Lot #1. Unit price = kness pay factor = 102 Y. In accordance with t ment of Transportation ications Sec. 502.15.14 Thickness + sive strength. 769 SY 202*0.5) = \$647.11.	1.2. SY he 4:			\$647.11	
	1100	CONCRETE PAVEMENT (: IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Thickness Adjustment	1100 pay factor. \$76.50/SY. Thick in Lot 2 = 970 SY Missouri Departr Standard Specifi PFtotal = (0.5)PF (0.5)PFcompress	ment for thickness for L Lot #2. Unit price = kness pay factor = 105 Y. In accordance with the ment of Transportation ications Sec. 502.15.14 "thickness + sive strength. 970 SY" 105*0.5) = \$1,855.13.	6.0. SY he 4:			\$1,855.13	
	1100	CONCRETE PAVEMENT (: IN. NON-REINFORCED 15 FT. JOINTS)		PCCP QC/QA Thickness Adjustment	1100 pay factor. \$76.50/SY. Thick in Lot 3 = 764 SY Missouri Departr Standard Specifi PFtotal = (0.5)PF (0.5)PFcompress	ment for thickness for L Lot #3. Unit price = kness pay factor = 105 Y. In accordance with t ment of Transportation ications Sec. 502.15.14 = thickness + sive strength. 764 SY 105*0.5) = \$1,461.15.	i.0. SY he 4:			\$1,461.15	
	1130	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	R Material					-8,000	\$9.65	(\$77,200.00)	

Revision 9/2/2025 Page 4 of 35



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

Estimat	gress e Num 15		241018-D01 Emery Sapp & So		Pay Period Start August 16, 2025 Pay Period End August 16, 2025 September 1, 2025	Original Contract An Net Change Order A Current Contract An	mount	\$10,991,730.65 \$382,777.96 \$11,374,508.61
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3433	1130	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original syste generated Material Payment Estimate Its Adjustment (0021) due to user jessem1 overridding Payment Estimate Exception the current Payment Estimate.	em	\$9.65	\$77,200.00
	1240	CONDUIT, 3 IN. RIGID, IN TRENCH	Material			-166	\$19.00	(\$3,154.00)
	1240	CONDUIT, 3 IN. RIGID, IN TRENCH	Material		This adjustment offsets the original syste generated Material Payment Estimate Ite Adjustment (0023) due to user jessem1 overridding Payment Estimate Exception on the current Payment Estimate.	em	\$19.00	\$3,154.00
	1240	CONDUIT, 3 IN. RIGID, IN TRENCH	Overrun			-132	\$19.00	(\$2,508.00)
	1530	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	Material			-110	\$13.75	(\$1,512.50)
	1530	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	Material		This adjustment offsets the original syste generated Material Payment Estimate Its Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception on the current Payment Estimate.	em	\$13.75	\$1,512.50
	1570	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	Material			-180	\$21.00	(\$3,780.00)
	1570	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	Material		This adjustment offsets the original syste generated Material Payment Estimate Its Adjustment (0025) due to user jessem1 overridding Payment Estimate Exception on the current Payment Estimate.	em	\$21.00	\$3,780.00
	2280	WATER	Construction Stockpile		Payment Estimate Item Adjustment gene Stockpile Transaction	erated		(\$53,039.00)
	2290	WATER	Overrun			-43	\$110.00	(\$4,730.00)
	5012	MISC.	Material			-6	\$1,300.00	(\$7,800.00)
	5012	MISC.	Material		This adjustment offsets the original syste generated Material Payment Estimate Ite Adjustment (0028) due to user jessem1 overridding Payment Estimate Exception on the current Payment Estimate.	em	\$1,300.00	\$7,800.00
	5013	CLASS B-1 CONCRETE (CULVERTS)	Material			-139.50000	\$913.35	(\$127,412.33)
	5013	CLASS B-1 CONCRETE (CULVERTS)	Material		This adjustment offsets the original syste generated Material Payment Estimate Ite Adjustment (0029) due to user jessem1 overridding Payment Estimate Exception on the current Payment Estimate.	em	\$913.35	\$127,412.33
Total								(\$81,003.46)

Revision 9/2/2025 Page 5 of 35



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informati	ion					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J5P3433	FAS- S402(44)	Modify interchange configuration	AC, 63	BOONE	at Route AC and Route 63	Route AC and Route 63 in Columbia						
Totals b	y Job N	umbers										
J5P3433		d Item Pay Item Adjustm		Item Pay	This Estimate \$934,058.48 (\$81,003.46) \$853,055.02	Previous \$4,151,810.26 \$133,200.60 \$4,285,010.86	To Date \$5,085,868.74 \$52,197.14 \$5,138,065.88					
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 5/29/2025 Page 6 of 35



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

**Exceptions (Discrepancies) This Estimate Period** 

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040504, Project Item Line Number 0080, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040504, Project Item Line Number 0080, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040504, Project Item Line Number 1130, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040504, Project Item Line Number 1130, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040506, Project Item Line Number 1030, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040506, Project Item Line Number 1030, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040506, Project Item Line Number 1090, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 3040506, Project Item Line Number 1090, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 4010150, Project Item Line Number 0100, Material Set 401015096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	The contractor has done aggregate testing but has not yet submitted any CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 5021310, Project Item Line Number 1040, Material Set 502131096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Contractor needs to input CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 5021310, Project Item Line Number 1040, Material Set 502131096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Contractor needs to input CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 6085008, Project Item Line Number 0180, Material Set 608500896, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Contractor needs to input CRE2O reports.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7034041, Project Item Line Number 5013, Material Set 703404196, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	CRE20 tests need to be reassigned to line 5013.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7034041, Project Item Line Number 5013, Material Set 703404196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	CRE2O tests need to be reassigned to line 5013.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7034041, Project Item Line Number 5013, Material Set 703404196, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	CRE2O tests need to be reassigned to line 5013.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7250312A, Project Item Line Number 0590, Material Set 7250312A96, Material 1020CPCSAC0012 - CulvPipe Al Ctd Corrug Stl 12" 300mm, Acceptance Action Generic 1020CPCSAC0012 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7250330A, Project Item Line Number 0630, Material Set 7250330A96, Material 1020CPCSAC0030 - CulvPipe Al Ctd Corrug Stl 30" 750mm, Acceptance Action Generic 1020CPCSAC0030 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7250336A, Project Item Line Number 0640, Material Set 7250336A96, Material 1020CPCSAC0036 - CulvPipe Al Ctd Corrug Stl 36" 900mm, Acceptance Action Generic 1020CPCSAC0036 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7261024, Project Item Line Number 0680, Material Set 726102496, Material 1026CPRCC3.024 - Reinf Conc Culv Pipe Cl3 24" (600 mm), Acceptance Action Generic 1026CPRCC3.024 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7261030, Project Item Line Number 0690, Material Set 726103096, Material 1026CPRCC3.030 - Reinf Conc Culv Pipe Cl3 30" (750 mm), Acceptance Action Generic 1026CPRCC3.030 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7261048, Project Item Line Number 0710, Material Set 726104896, Material 1026CPRCC3.048 - Reinf Conc Culv Pipe Cl3 48" (1200 mm), Acceptance Action Generic 1026CPRCC3.048 is insufficient.	Waiting on pipe inspection.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7319913, Project Item Line Number 0840, Material Set 731991396, Material 1033DIRCPK - Precast Conc Drop Inlet, Acceptance Action Generic 1033DIRCPK is insufficient.	Working with materials to resolve.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7319913, Project Item Line Number 5012, Material Set 731991396, Material 1033DIRCPK - Precast Conc Drop Inlet, Acceptance Action Generic 1033DIRCPK is insufficient.	Working with materials to resolve.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 7320630A, Project Item Line Number 0920, Material Set 7320630A96, Material 1032ESRCF - Conc End Section for Round Pipe,	Working with materials to resolve.	jessem1	Overridden

Revision 5/29/2025 Page 7 of 35



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Acceptance Action Generic 1032ESRCF is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 8051000A, Project Item Line Number 0950, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Materials has resolved, but the sample record is dated for after the end of the estimate period.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 8061019, Project Item Line Number 1020, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	Inspector waiting on certification from contractor.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 9013003, Project Item Line Number 1240, Material Set 901300396, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	The contractor needs to send the inspector the material certifications.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 9025200, Project Item Line Number 1530, Material Set 902520096, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	The contractor needs to send the inspector the material certifications.	jessem1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3433, Item 9027300, Project Item Line Number 1570, Material Set 902730096, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	The contractor needs to send the inspector the material certifications.	jessem1	Overridden
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 0340, Contract Line Item Number 0340, Item 6161025, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 0590, Contract Line Item Number 0590, Item 7250312A, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 1030, Contract Line Item Number 1030, Item 3040506, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 1040, Contract Line Item Number 1040, Item 5021310, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 1240, Contract Line Item Number 1240, Item 9013003, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 2290, Contract Line Item Number 2290, Item 6039903, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-D01, Contract Project J5P3433, Project Item Line Number 0970, Contract Line Item Number 0970, Item 8061005, Minor Item.	Inspector is working on a change order to resolve.	jessem1	Acknowledged

Revision 5/29/2025 Page 8 of 35



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					d on Report Generated date and can differ from the post					Senerated.		T
Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3433	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.60	\$290,000.00	\$174,000.00
D01		0001	0020	2031000	CLASS A EXCAVATION	60,287.00	0.00	60,287.00	CUYD	31,494.90	\$10.55	\$332,271.20
		0001	0030	2035500	EMBANKMENT IN PLACE	10,629.00	0.00	10,629.00	CUYD	10,443.40	\$8.00	\$83,547.20
		0001	0040	2036000	COMPACTING EMBANKMENT	44,397.00	0.00	44,397.00	CUYD	25,268.80	\$4.00	\$101,075.20
		0001	0050	2042010	SETTLEMENT GAUGE	9.00	-6.00	3.00	EA	3.00	\$750.00	\$2,250.00
		0001	0060	2063000	CLASS 3 EXCAVATION	8,266.00	0.00	8,266.00	CUYD	4,361.00	\$4.95	\$21,586.95
		0001	0070	2063300	CLASS 4 EXCAVATION	266.00	0.00	266.00	CUYD	266.00	\$31.00	\$8,246.00
		0001	0800	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	14,292.00	0.00	14,292.00	SQYD	3,280.95	\$12.25	\$40,191.64
		0001	0100	4010150	TYPE A2 SHOULDER	5,032.30	0.00	5,032.30	SQYD	1,837.00	\$74.00	\$135,938.00
		0001	0110	6042010	ADJUSTING MANHOLE	2.00	0.00	2.00	EA	0.00	\$475.00	\$0.00
		0001	0120	6049902	MISC.ADJUST GAS VALVE	7.00	0.00	7.00	EA	0.00	\$55.00	\$0.00
		0001	0130	6049902	MISC.ADJUST WATER METER	2.00	0.00	2.00	EA	0.00	\$125.00	\$0.00
		0001	0140	6049902	MISC.ADJUST WATER VALVE	7.00	0.00	7.00	EA	0.00	\$55.00	\$0.00
		0001	0150	6081010	CONCRETE CURB RAMP	160.90	0.00	160.90	SQYD	0.00	\$127.00	\$0.00
		0001	0160	6081012	TRUNCATED DOMES	414.00	0.00	414.00	SQFT	0.00	\$24.00	\$0.00
		0001	0170	6083008	8 IN. CONCRETE MEDIAN STRIP	1,466.60	0.00	1,466.60	SQYD	0.00	\$125.00	\$0.00
		0001	0180	6085008	PAVED APPROACH, 8 IN.	4,093.00	69.00	4,162.00	SQYD	1,182.80	\$77.00	\$91,075.60
		0001	0190	6086004	CONCRETE SIDEWALK, 4 IN.	3,010.70	0.00	3,010.70	SQYD	0.00	\$69.00	\$0.00
		0001	0210	6091052	CURB AND GUTTER TYPE B	5,717.00	0.00	5,717.00	LF	0.00	\$36.00	\$0.00
		0001	0220	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	2,048.00	0.00	2,048.00	CUYD	278.40	\$48.00	\$13,363.20
		0001	0230	6096042	PLACING TYPE 2 ROCK DITCH LINER	2,048.00	0.00	2,048.00	CUYD	278.40	\$19.50	\$5,428.80
		0001	0240	6097000	ROCK LINING	123.00	0.00	123.00	CUYD	0.00	\$80.00	\$0.00
		0001	0250	6099903	MISC.MODIFIED TYPE S CURB	113.00	0.00	113.00	LF	0.00	\$200.00	\$0.00
		0001	0260	6113020	FURNISHING TYPE 2 ROCK BLANKET	439.00	0.00	439.00	CUYD	0.00	\$60.00	\$0.00
		0001	0270	6113040	PLACING TYPE 2 ROCK BLANKET	439.00	0.00	439.00	CUYD	0.00	\$19.50	\$0.00
		0001	0280	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$4,450.00	\$8,900.00
		0001	0290	6122020	REPLACEMENT SAND BARREL	4.00	0.00	4.00	EA	0.00	\$390.00	\$0.00
		0001	0300	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	0.00	\$1,200.00	\$0.00
		0001	0310	6143013	MANHOLE FRAME AND COVER, TYPE 3	70.00	-20.00	50.00	EA	0.00	\$625.00	\$0.00
		0001	0320	6161005	CONSTRUCTION SIGNS	721.00	0.00	721.00	SQFT	577.00	\$8.50	\$4,904.50
		0001	0330	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	6.00	\$26.50	\$159.00
		0001	0340	6161025	CHANNELIZER (TRIM-LINE)	63.00	41.00	104.00	EA	180.00	\$21.50	\$3,870.00
		0001	0350	6161030	TYPE 3 MOVEABLE BARRICADE	5.00	9.00	14.00	EA	14.00	\$165.00	\$2,310.00
		0001	0360	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$265.00	\$0.00
		0001	0370	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	1.00	4.00	EA	4.00	\$2,650.00	\$10,600.00
		0001	0375	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	2.00	0.00	2.00	EA	0.00	\$15,000.00	\$0.00
		0001	0380	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	3,750.00	-2,161.00	1,589.00	LF	389.00	\$37.00	\$14,393.00
		0001	0390	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$903,000.00	\$903,000.00
		0001	0400	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	31.00	0.00	31.00	EA	0.00		\$0.00
		0001	0410	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$265.00	\$0.00
		0001	0420	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	7.00	0.00	7.00	EA EA	0.00	\$480.00	\$0.00
		0001	0440	6200042 6205301B	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES  TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	826.00	6,304.00	7,130.00	LF	7,130.00	\$59.00 \$2.15	\$0.00 \$15,329.50
		0001	0450	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	16,312.00	0.00	16,312.00	LF	3,657.00	\$2.15	\$7,862.55
		0001	0460	6205320	TEMPORARY REMOVABLE MARKING TAPE, 12 IN., WHITE	36.00	0.00	36.00	LF	0.00	\$6.50	\$0.00
		0001	0470	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	22,071.00	0.00	22,071.00	LF	0.00	\$0.30	\$0.00
		0001	0480	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,145.00	0.00	4,145.00	LF	0.00	\$0.30	\$0.00
		0001	0490	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	324.00	0.00	324.00	LF	0.00	\$1.05	\$0.00
		0001	0500	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	12,885.00	0.00	12,885.00	LF	0.00	\$0.15	\$0.00
		0001	0510	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11,137.00	0.00	11,137.00	LF	0.00	\$0.15	\$0.00
		0001	0520	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	378.00	0.00	378.00	LF	0.00	\$10.50	\$0.00

Revision 5/29/2025 Page 9 of 35



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Value POSTE Date (See repor	Unit Price	Total Posted Approved	Unit	Total Current Quantity	Net Change Order	Bid Quantity	d on Report Generated date and can differ from the posts  Description		Category	Project No.
\$0.0	\$10.50	Qty 0.00	LF	97.00	0.00	97.00	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT	0530 6206	0001	J5P3433
\$0.0	\$535.00	0.00	EA	3.00	0.00	3.00	MARKING PAINT, TYPE P BEADS  MISC.PREFORMED PAVEMENT MARKING HELMETED CYCLIST	0540 6209	0001	
\$0.0	\$3.50	0.00	SQYD	658.00	0.00	658.00	SUBSURFACE DRAINAGE GEOTEXTILE	0540 6209	0001	
\$40,000.0	\$80,000.00	0.50	LS	1.00	0.00	1.00	CONTRACTOR FURNISHED SURVEYING AND STAKING	0560 6274	0001	
\$0.0	\$810.00	0.00	CUYD	0.00	-157.30	157.30	CLASS B-1 CONCRETE (CULVERTS)	0570 7034	0001	
\$0.0	\$2.15	0.00	LB	0.00	-32,120.00	32,120.00	REINFORCING STEEL (CULVERTS)	0580 7061	0001	
\$4,885.0	\$50.00	97.70	LF	51.00	0.00	51.00	12 IN. PIPE GROUP B	0590 7250	0001	
\$55,048.	\$65.00	846.90	LF	1,980.00	-126.00	2,106.00	15 IN. PIPE GROUP B	0600 7250	0001	
\$7,912.8	\$72.00	109.90	LF	272.00	229.00	43.00	18 IN. PIPE GROUP B	0610 7250	0001	
\$5,678.2	\$89.00	63.80	LF	144.00	0.00	144.00	24 IN. PIPE GROUP B	0620 7250	0001	
\$3,520.8	\$108.00	32.60	LF	33.00	0.00	33.00	30 IN. PIPE GROUP B	0630 7250	0001	
\$5,611.	\$129.00	43.50	LF	544.00	0.00	544.00	36 IN. PIPE GROUP B	0640 7250	0001	
\$194,361.0	\$185.00	1,050.60	LF	1,051.00	204.00	847.00	54 IN. PIPE GROUP B	0650 7250	0001	
\$0.0	\$243.00	0.00	LF	0.00	-196.00	196.00	60 IN. PIPE GROUP B	0660 7250	0001	
\$13,207.0	\$94.00	140.50	LF	216.00	0.00	216.00	15 IN. PIPE GROUP A	0670 7261	0001	
\$3,662.	\$117.00	31.30	LF	364.00	0.00	364.00	24 IN. PIPE GROUP A	0680 7261	0001	
\$30,720.0	\$128.00	240.00	LF	240.00	0.00	240.00	30 IN. PIPE GROUP A	0690 7261	0001	
\$0.720.8	\$175.00	0.00	LF	360.00	-8.00	368.00	36 IN. PIPE GROUP A	0700 7261	0001	
\$10,600.0	\$265.00	40.00	LF	69.00	0.00	69.00	48 IN. PIPE GROUP A	0710 7261	0001	
\$26,220.0	\$230.00	114.00	LF	114.00	0.00	114.00	MISC.48 IN. HDPE PIPE	0720 7269	0001	
\$0.0	\$535.00	0.00	FT	0.00	-8.00	8.00	PRECAST CONCRETE MANHOLE - 48 IN.	0730 7310	0001	
\$0.0	\$665.00	0.00	FT	12.00	3.00	9.00	PRECAST CONCRETE MANHOLE - 60 IN.	0740 7310	0001	
\$0.0	\$1,400.00	0.00	FT	8.00	3.00	5.00	PRECAST CONCRETE MANHOLE - 72 IN.	0750 7310	0001	
\$0.0	\$585.00	0.00	FT	0.00	-5.00	5.00	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	0760 7311	0001	
\$10,380.0	\$865.00	12.00	FT	154.00	-1.00	155.00	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	0770 7311	0001	
\$64,260.0	\$765.00	84.00	LF	84.00	-21.00	105.00	MISC.CITY OF COLUMBIA TYPE M DROP INLET 5 FT X 3 FT	0780 7319	0001	
\$16,875.0	\$1,125.00	15.00	LF	15.00	1.00	14.00	MISC.CITY OF COLUMBIA TYPE M DROP INLET 5 FT X 4 FT	0790 7319	0001	
\$36,750.0	\$2,625.00	14.00	LF	14.00	10.00	4.00	MISC.PRECAST CONCRETE OUTLET STRUCTURE 5 FT X 5 FT	0800 7319	0001	
\$0.0	\$845.00	0.00	FT	5.00	-1.00	6.00	MISC.PRECAST CONCRETE DROP INLET 4 FT X 4 FT	0810 7319	0001	
\$0.0	\$705.00	0.00	FT	61.00	4.00	57.00	MISC.PRECAST CONCRETE DROP INLET 5 FT X 4 FT	0820 7319	0001	
\$0.0	\$695.00	0.00	FT	13.00	3.00	10.00	MISC.PRECAST CONCRETE DROP INLET 5 FT X 5 FT	0830 7319	0001	
\$82,500.0	\$1,500.00	55.00	FT	57.00	0.00	57.00	MISC.PRECAST CONCRETE MANHOLE, 96 IN.	0840 7319	0001	
\$820.0	\$410.00	2.00	EA	2.00	0.00	2.00	12 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END	0850 7320	0001	
\$1,800.0	\$450.00	4.00	EA	5.00	0.00	5.00	SECTION  15 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END	0860 7320	0001	
							SECTION		0001	
\$510.0	\$510.00	1.00	EA	2.00	0.00	2.00	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	0870 7320		
\$0.0	\$630.00	0.00	EA	6.00	1.00	5.00	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	0880 7320	0001	
\$950.0	\$950.00	1.00	EA	1.00	0.00	1.00	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	0890 7320	0001	
\$0.0	\$1,510.00	0.00	EA	1.00	0.00	1.00	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	0900 7320	0001	
\$0.0	\$3,415.00	0.00	EA	1.00	0.00	1.00	54 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	0910 7320	0001	
\$925.0	\$925.00	1.00	EA	4.00	0.00	4.00	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	0920 7320	0001	
\$0.0	\$1,375.00	0.00	EA	2.00	0.00	2.00	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	0930 7320	0001	
\$3,036.0	\$1,650.00	1.84	ACRE	11.50	0.00	11.50	MULCHING	0940 8025	0001	
\$3,864.0	\$2,100.00	1.84	ACRE	11.50	0.00	11.50	SEEDING - COOL SEASON GRASSES	0950 8051	0001	
\$0.0	\$80.00	0.00	CUYD	5.00	0.00	5.00	SEDIMENT TRAP ROCK	0960 8061	0001	
\$4,323.0	\$16.50	262.00	LF	250.00	204.00	46.00	ROCK DITCH CHECK	0970 8061	0001	
\$0.0	\$12.75	0.00	LF	30.00	0.00	30.00	ALTERNATE DITCH CHECK	0980 8061	0001	
\$0.	\$165.00	0.00	EA	58.00	0.00	58.00	CURB INLET CHECK	0990 8061	0001	
\$175.	\$35.00	5.00	CUYD	109.00	0.00	109.00	SEDIMENT REMOVAL	1000 8061	0001	
\$0.	\$480.00	0.00	ACRE	3.10	0.00	3.10	TEMPORARY SEEDING	1010 8061	0001	
\$5,101.	\$2.90	1,759.00	LF	3,075.00	0.00	3,075.00	SILT FENCE	1020 8061	0001	
\$110,846.	\$15.25	7,268.60	SQYD	7,021.00	0.00	7,021.00	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	1030 3040	0002	
									0002	

Revision 5/29/2025 Page 10 of 35



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					d on Report Generated date and can differ from the post						Limit Dring	Tatal Value DOCTED
Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3433	0002	1050	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	17.30	0.00	17.30	STA	0.00	\$155.00	\$0.00
D01		0004	1090	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	22,549.00	0.00	22,549.00	SQYD	2,503.00	\$12.75	\$31,913.25
		0004	1100	5021309	CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. JOINTS)	22,549.10	0.00	22,549.10	SQYD	2,503.00	\$76.50	\$191,479.50
		0006	1130	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	9,794.00	0.00	9,794.00	SQYD	8,000.00	\$9.65	\$77,200.00
		0006	1140	5021307	CONCRETE PAVEMENT (7 IN. NON-REINFORCED, 15 FT. JOINTS)	9,793.50	0.00	9,793.50	SQYD	0.00	\$52.00	\$0.00
		0010	1170	6061060	MGS GUARDRAIL	2,863.00	0.00	2,863.00	LF	362.50	\$26.50	\$9,606.25
		0010	1180	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	875.00	0.00	875.00	LF	0.00	\$32.00	\$0.00
		0010	1190	6061080	MGS END ANCHOR	4.00	0.00	4.00	EA	1.00	\$1,500.00	\$1,500.00
		0020	1200	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	1.00	\$3,400.00	\$3,400.00
		0020	1210	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	8.00	0.00	8.00	EA	0.00	\$2,850.00	\$0.00
		0020	1220	9011115	BRACKET ARM, 15 FT. OR 4.6 M	8.00	0.00	8.00	EA	0.00	\$1,440.00	\$0.00
		0020	1230	9011311	LUMINAIRE, LED-A	8.00	0.00	8.00	EA	0.00	\$375.00	\$0.00
		0020	1240	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	34.00	0.00	34.00	LF	166.00	\$19.00	\$3,154.00
		0020	1250	9014003	CONDUIT, 3 IN. RIGID, PUSHED	931.00	0.00	931.00	LF	0.00	\$21.50	\$0.00
		0020	1260	9015010	TRENCHING TYPE I	109.00	0.00	109.00	LF	0.00	\$10.75	\$0.00
		0020	1270	9016110	PULL BOX, PREFORMED CLASS 1	8.00	0.00	8.00	EA	0.00	\$1,525.00	\$0.00
		0020	1280	9017008	CABLE, 8 AWG 1 CONDUCTOR	2,290.00	0.00	2,290.00	LF	0.00	\$1.55	\$0.00
			1290	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	760.00	0.00	760.00	LF	0.00	\$1.05	\$0.00
		0020	1300	9017208	WIRE, 8 AWG, BARE NEUTRAL  CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE	1,150.00 220.00	0.00	1,150.00 220.00	LF LF	0.00	\$1.50 \$5.35	\$0.00 \$0.00
		0020			NEUTRAL, 8 AWG							
		0020	1320	9018230 9018613	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)  POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE,	2.00	0.00	2.00	EA EA	0.00	\$1,330.00 \$10,500.00	\$0.00 \$0.00
		0020			LIGHTING AND SIGNALS							
			1340	9019902	MISC.DRILL PULLBOX AND ATG	1.00	0.00	1.00	EA	0.00	\$330.00	\$0.00
		0030	1350	9020213	SIGNAL HEAD, TYPE 3S	8.00	0.00	8.00	EA	0.00	\$1,025.00	\$0.00
		0030	1360	9020513	SIGNAL HEAD, TYPE 3B	16.00	0.00	16.00	EA	0.00	\$1,360.00	\$0.00
		0030	1370	9020514	SIGNAL HEAD, TYPE 4B	2.00	0.00	2.00	EA	0.00	\$1,580.00	\$0.00
		0030	1380	9020811	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	16.00	0.00	16.00	EA	0.00	\$650.00	\$0.00
		0030	1390	9020833	SH-FLAT SHEET - SIGNAL SIGN	110.00	0.00	110.00	SQFT	0.00	\$43.00	\$0.00
		0030	1400	9020834 9022213	SIGNAL SIGN, MOUNTING HARDWARE  SIGNAL HEAD, OPTICALLY LIMITED AND CONVENTIONAL COMBINATION, TYPE 3S	26.00	0.00	26.00	EA EA	0.00	\$350.00 \$6,450.00	\$0.00 \$0.00
		0030	1420	9022708	POST, SIGNAL 8 FT.	10.00	0.00	10.00	EA	0.00	\$1,300.00	\$0.00
		0030	1430	9022715	POST, SIGNAL 15 FT.	2.00	0.00	2.00	EA	0.00	\$1,950.00	\$0.00
		0030	1440	9023225	POST, TYPE C, 25 FT. ARM OR 7.6 M ARM	1.00	0.00	1.00	EA	0.00	\$11,150.00	\$0.00
		0030	1450	9023230	POST, TYPE C, 30 FT. ARM OR 9.1 M ARM	2.00	0.00	2.00	EA	0.00	\$12,800.00	\$0.00
		0030	1460	9023235	POST, TYPE C, 35 FT. ARM OR 10.7 M ARM	1.00	0.00	1.00	EA	0.00	\$13,050.00	\$0.00
		0030	1470	9023240	POST, TYPE C, 40 FT. ARM OR 12.2 M ARM	1.00	0.00	1.00	EA	0.00	\$14,650.00	\$0.00
		0030	1480	9023245	POST, TYPE C, 45 FT. ARM OR 13.7 M ARM	1.00	0.00	1.00	EA	0.00	\$14,750.00	\$0.00
		0030	1490	9023250	POST, TYPE C, 50 FT. ARM OR 15.2 M ARM	1.00	0.00	1.00	EA	0.00	\$15,850.00	\$0.00
		0030	1500	9023255	POST, TYPE C, 55 FT. ARM	1.00	0.00	1.00	EA	0.00	\$18,100.00	\$0.00
		0030	1510	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	2.00	0.00	2.00	EA	0.00	\$27,600.00	\$0.00
		0030	1520	9024975	VIDEO DETECTION SYSTEM	2.00	0.00	2.00	EA	0.00	\$74,000.00	\$0.00
		0030	1530	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	1,023.00	0.00	1,023.00	LF	110.00	\$13.75	\$1,512.50
		0030	1540	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	230.00	0.00	230.00	LF	0.00	\$18.00	\$0.00
		0030	1550	9025400	CONDUIT, 4 IN., TRENCH WITH TRACER WIRE	40.00	0.00	40.00	LF	0.00	\$21.00	\$0.00
		0030	1560	9027200	CONDUIT, 2 IN., PUSHED WITH TRACER WIRE	388.00	0.00	388.00	LF	0.00	\$18.00	\$0.00
		0030	1570	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	670.00	0.00	670.00	LF	180.00	\$21.00	\$3,780.00
		0030	1580	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	170.00	0.00	170.00	LF	0.00	\$1.55	\$0.00
		0030	1590	9028310	CABLE, 16 AWG 5 CONDUCTOR	3,460.00	0.00	3,460.00	LF	0.00	\$1.35	\$0.00
		0030	1600	9028311	CABLE, 16 AWG 7 CONDUCTOR	6,320.00	0.00	6,320.00	LF	0.00	\$1.45	\$0.00
		0030	1610	9028811	PULL BOX, PREFORMED CLASS 2	12.00	0.00	12.00	EA	0.00	\$1,760.00	\$0.00
		0030	1620	9028812	PULL BOX, PREFORMED CLASS 3	2.00	0.00	2.00	EA	0.00	\$2,250.00	\$0.00
		0030	1630	9028816	PULL BOX, PREFORMED CLASS 5	2.00	0.00	2.00	EA	0.00	\$3,200.00	\$0.00
		0030	1640	9029100	BASE, CONCRETE	34.40	0.00	34.40	CUYD	6.02	\$1,550.00	\$9,331.00
		0030	1650	9029901	MISC.REMOVE EXISTING FIBER OPTIC CABLE	1.00	0.00	1.00	LS	0.02	\$2,050.00	\$0.00
		0030	1660	9029902	MISC.APS SYSTEM (INTERSECTION)	2.00	0.00	2.00	EA	0.00	\$10,500.00	\$0.00
			1000	2023302	MIGOSALO GIGILIM (INTERGECTION)	2.00	0.00	2.00	EA	0.00	φιυ,υυυ.υυ	\$0.00

Revision 5/29/2025 Page 11 of 35



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	sieu Qua		u value:	s are base	d on Report Generated date and can differ from the pos		at the tim		te was t	Jenerated.		
Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3433	0030	1670	9029902	MISC.FIBER ENCLOSURE	1.00	0.00	1.00	EA	0.00	\$2,000.00	\$0.00
D01		0030	1680	9029902	MISC.IN-GROUND SPLICE ENCLOSURE	1.00	0.00	1.00	EA	0.00	\$2,450.00	\$0.00
		0030	1690	9029902	MISC.NETWORK SWITCH	2.00	0.00	2.00	EA	0.00	\$6,950.00	\$0.00
		0030	1700	9029903	MISC.FIBER OPTIC CABLE, 24SM	2,760.00	0.00	2,760.00	LF	0.00	\$3.85	\$0.00
		0040	1710	9031010	CONCRETE FOOTINGS, EMBEDDED	7.00	0.00	7.00	CUYD	0.00	\$1,335.00	\$0.00
		0040	1720	9031020	CONCRETE FOOTINGS, BOLT DOWN	26.90	0.00	26.90	CUYD	0.00	\$1,600.00	\$0.00
		0040	1730	9031210	STRUCTURAL STEEL POSTS	2,910.00	0.00	2,910.00	LB	0.00	\$5.85	\$0.00
		0040	1740	9031220	PIPE POSTS	1,460.00	0.00	1,460.00	LB	0.00	\$5.35	\$0.00
		0040	1750	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	32.00	0.00	32.00	EA	0.00	\$480.00	\$0.00
		0040	1760	9031280	2.5 IN. PSST POST - 12 GA.	419.00	0.00	419.00	LF	0.00	\$32.00	\$0.00
		0040	1770	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	93.00	0.00	93.00	EA	0.00	\$160.00	\$0.00
		0040	1780	9035004A	SH-FLAT SHEET	126.00	0.00	126.00	SQFT	0.00	\$26.50	\$0.00
		0040	1790	9035011A	ST-STRUCTURAL	694.00	0.00	694.00	SQFT	0.00	\$37.00	\$0.00
		0040	1800	9035069A	SHF-FLAT SHEET FLUORESCENT	310.00	0.00	310.00	SQFT	0.00	\$26.50	\$0.00
		0040	1810	9036043	TUBULAR SUPPORT, TYPE C-2018-34	1.00	0.00	1.00	EA	0.00	\$38,000.00	\$0.00
		0040	1820	9039902	MISC.75 FT SPAN TUBULAR TRUSS, 2 TUBE	1.00	0.00	1.00	EA	0.00	\$80,000.00	\$0.00
		0040	1830	9039902	MISC.EXISTING SIGN TO BE REMOVED	27.00	0.00	27.00	EA	0.00	\$105.00	\$0.00
		0040	1840	9039902	MISC.RELOCATE EXISTING SIGN	10.00	0.00	10.00	EA	0.00	\$1,600.00	\$0.00
		0040	1850	9039902	MISC.RELOCATE EXISTING SIGN BY OTHERS	3.00	0.00	3.00	EA	0.00	\$1,600.00	\$0.00
		0040	1860	9039902	MISC.TUBULAR SUPPORT, TYPE C-2015-24	1.00	0.00	1.00	EA	0.00	\$28,800.00	\$0.00
		0040	1870	9039903	MISC.4 IN. PSST POST	18.00	0.00	18.00	LF	0.00	\$105.00	\$0.00
		0056	1880	6039921	SEWER	1.00	0.00	1.00	LS	1.00	\$23,000.00	\$23,000.00
		0056	1890	6039922	SEWER	3.00	0.00	3.00	EA	3.00	\$590.00	\$1,770.00
		0056	1900	6039922	SEWER	5.00	0.00	5.00	EA	5.00	\$1,300.00	\$6,500.00
		0056	1910	6039922	SEWER	1.00	0.00	1.00	EA	1.00	\$2,950.00	\$2,950.00
		0056	1920	6039922	SEWER	1.00	0.00	1.00	EA	1.00	\$6,550.00	\$6,550.00
		0056	1930	6039922	SEWER	20.00	-20.00	0.00	EA	0.00	\$21.00	\$0.00
		0056	1940	6039922	SEWER	1.00	0.00	1.00	EA	0.00	\$1,400.00	\$0.00
		0056	1950	6039922	SEWER	2.00	0.00	2.00	EA	2.00	\$495.00	\$990.00
		0056	1960	6039922	SEWER	10.00	0.00	10.00	EA	9.00	\$4,365.00	\$39,285.00
		0056	1970	6039922	SEWER	4.00	-4.00	0.00	EA	0.00	\$375.00	\$0.00
		0056	1980	6039923	SEWER	955.00	0.00	955.00	LF	955.00	\$4.55	\$4,345.25
		0056	1990	6039923	SEWER	1,538.00	0.00	1,538.00	LF	1,538.00	\$1.00	\$1,538.00
		0056	2000	6039923	SEWER	60.00	-60.00	0.00	LF	0.00	\$12.75	\$0.00
		0056	2010	6039923	SEWER	60.00	-60.00	0.00	LF	0.00	\$165.00	\$0.00
		0056	2020	6039923	SEWER	27.00	-27.00	0.00	LF	0.00	\$7.00	\$0.00
		0056	2030	6039923	SEWER	80.00	-80.00	0.00	LF	0.00	\$16.50	\$0.00
		0056	2040	6039923	SEWER	75.00	-25.00	50.00	LF	50.00	\$212.00	\$10,600.00
		0056	2050	6039923	SEWER	846.00	-30.00	816.00	LF	816.00	\$48.00	\$39,168.00
		0056	2060	6039923	SEWER	419.00	-96.00	323.00	LF	323.00	\$121.00	\$39,083.00
		0056	2070	6039923	SEWER	118.00	-22.50	95.50	LF	95.50	\$126.00	\$12,033.00
		0056	2080	6039923	SEWER	40.00	25.00	65.00	LF	65.00	\$365.00	\$23,725.00
		0056	2090	6039923	SEWER	40.00	15.00	55.00	LF	55.00	\$250.00	\$13,750.00
		0056	2100	6039923	SEWER	115.00	0.00	115.00	LF	115.00	\$64.00	\$7,360.00
		0056	2110	6039923	SEWER	340.00	-340.00	0.00	LF	0.00	\$2.90	\$0.00
		0056	2120	6039923	SEWER	240.00	134.00	374.00	LF	374.00	\$7.50	\$2,805.00
		0056	2130	6039924	SEWER	673.00	-673.00	0.00	CUYD	0.00	\$5.85	\$0.00
		0056	2150	6039924	SEWER	230.00	-230.00	0.00	CUYD	0.00	\$180.00	\$0.00
		0056	2160	6039925	SEWER	125.00	0.00	125.00	SQYD	0.00	\$13.25	\$0.00
		0056	2170	6169904	MISC.TEMPORARY TRAFFIC CONTROL SIGNS	27.00	-27.00	0.00	SQFT	0.00	\$8.50	\$0.00
		0056	2180	7319913	MISC.ADDITIONAL DEPTH OF DOGHOUSE STRUCTURE	2.00	0.00	2.00	FT	2.00	\$260.00	\$520.00
		0056	2190	7319913	MISC.ADDITIONAL DEPTH OF STANDARD STRUCTURE	30.00	-6.00	24.00	FT	24.00	\$260.00	\$6,240.00
		0057	2200	6039901	WATER	1.00	0.00	1.00	LS	0.66	\$8,450.00	\$5,577.00
		0057	2210	6039902	WATER	22.00	1.00	23.00	EA	16.00	\$1,650.00	\$26,400.00
		0057	2220	6039902	WATER	4.00	0.00	4.00	EA	3.00	\$1,650.00	\$38,310.00
		0057	2230	6039902		7.00	2.00		EA			
		0057			WATER			9.00		9.00	\$3,200.00	\$28,800.00
		0057	2240	6039902	WATER	4.00	0.00	4.00	EA	2.00	\$4,500.00	\$9,000.00
		300.	2250	6039902	WATER	2.00	0.00	2.00	EA	2.00	\$5,200.00	\$10,400.00

Revision 5/29/2025 Page 12 of 35



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241018-	J5P3433	0057	2260	6039902	WATER	2.00	0.00	2.00	EA	1.00	\$7,580.00	\$7,580.00
001		0057	2270	6039902	WATER	1.00	0.00	1.00	EA	1.00	\$535.00	\$535.00
		0057	2280	6039903	WATER	1,609.00	0.00	1,609.00	LF	1,559.50	\$160.00	\$249,520.00
		0057	2290	6039903	WATER	963.00	0.00	963.00	LF	1,006.00	\$110.00	\$110,660.00
		0057	2300	6039903	WATER	259.00	0.00	259.00	LF	234.00	\$275.00	\$64,350.00
		0057	2310	6039903	WATER	18.00	0.00	18.00	LF	18.00	\$190.00	\$3,420.00
		0057	2320	6039903	WATER	33.00	1.00	34.00	LF	34.00	\$260.00	\$8,840.00
		0057	2330	6039907	WATER	110.00	0.00	110.00	CUYD	0.00	\$160.00	\$0.00
		0001	5001	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	0.00	402.00	402.00	LF	0.00	\$27.50	\$0.00
		0057	5002	6039903	WATER	0.00	187.00	187.00	LF	187.00	\$12.75	\$2,384.25
		0057	5003	6039903	WATER	0.00	90.00	90.00	LF	90.00	\$7.50	\$675.00
		0001	5004	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$2,640.00	\$2,640.00
		0057	5005	6039901	WATER	0.00	1.00	1.00	LS	1.00	\$5,157.86	\$5,157.86
		0001	5006	6141022	GRATE AND BEARING PLATE (3 FT. X 3 FT. OR 914 MM X 914 MM)	0.00	1.00	1.00	EA	0.00	\$1,858.00	\$0.00
		0001	5007	6149902	MISC.CITY OF COLUMBIA MANHOLE COVER	0.00	16.00	16.00	EA	0.00	\$762.00	\$0.00
		0001	5008	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	0.00	5,661.00	5,661.00	LF	5,211.00	\$55.00	\$286,605.00
		0001	5009	6191000	PAVEMENT EDGE TREATMENT	0.00	5,578.00	5,578.00	LF	4,237.00	\$4.15	\$17,583.5
		0001	5010	7261018	18 IN. PIPE GROUP A	0.00	71.00	71.00	LF	0.00	\$194.00	\$0.0
		0001	5011	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	0.00	5.00	5.00	FT	0.00	\$730.00	\$0.0
		0001	5012	7319913	MISC.PRECAST CONCRETE DROP INLET 7 FT X 3 FT (TYPE S)	0.00	6.00	6.00	FT	6.00	\$1,300.00	\$7,800.0
		0001	5013	7034041	CLASS B-1 CONCRETE (CULVERTS)	0.00	139.50	139.50	CUYD	139.50	\$913.35	\$127,412.3
		0001	5014	7061030	REINFORCING STEEL (CULVERTS)	0.00	21,670.00	21,670.00	LB	21,670.00	\$3.19	\$69,127.3
		0001	5015	7319902	MISC.24 IN. TRENCH DRAIN	0.00	1.00	1.00	EA	0.00	\$23,557.00	\$0.0
		0001	5016	6139905	MISC.FULL DEPTH PAVEMENT REPAIR	0.00	37.50	37.50	SQYD	0.00	\$138.25	\$0.0
		0001	5017	2039907	MISC.REMOVAL AND REPLACEMENT OF UNSUITABLE MATERIAL	0.00	1,834.00	1,834.00	CUYD	1,834.00	\$25.00	\$45,850.0
		0056	5018	6039925	SEWER	0.00	176.00	176.00	SQYD	176.00	\$5.85	\$1,029.6
		0001	5019	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$1,477.99	\$1,477.9
		0057	5020	6039901	WATER	0.00	1.00	1.00	LS	1.00	\$25,925.00	\$25,925.0
		0001	5021	6209903	MISC.4 IN. WHITE TEMPORARY PAVEMENT MARKING PAINT	0.00	1,600.00	1,600.00	LF	1,600.00	\$1.31	\$2,096.0
		0001	5022	6209903	MISC.4 IN. YELLOW TEMPORARY PAVEMENT MARKING PAINT	0.00	1,600.00	1,600.00	LF	1,600.00	\$1.05	\$1,680.0
	Project J	5P3433 - To	otal Value	Posted to D	Date as of Report Generated Date							\$5,085,868.7
41018-E	001 Overal	I - Total Va	lue Poste	ed to Date as	of Report Generated Date							\$5,085,868.7

Page 13 of 35 Revision 5/29/2025



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5P3433

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
060	2063000	CLASS 3 EXCAVATION	8/22/25	9/2/25	1	81.00	CUYD	I-73, I-74, P-67A, P-68A					
			8/26/25	9/2/25	1	357.00	CUYD	P-43, P-42, P-41, I-44.					
080	3040504	TYPE 5 AGGREGATE FOR BASE	8/18/25	9/2/25	1	1,113.80	SQYD	Woodstock Mobile Home Park Entrance. Poured 8/18/25 and 8/19/25.					
100	4010150	TYPE A2 SHOULDER	8/27/25	9/2/25	1	1,479.00	SQYD	Route 63 NB On Ramp outside STA 7+26 to STA 39+04					
180	6085008	PAVED APPROACH, 8 IN.	8/18/25	9/2/25	1	1,113.80	SQYD	Woodstock Mobile Home Park Entrance. Poured 8/18/25 and 8/19/25.					
220	6096020	FURN. TYPE 2 ROCK DITCH LINER	8/26/25	9/2/25	1	73.60	CUYD	Lenoir St. STA 404+50 to STA 409+44					
1230	6096042	PLACING TYPE 2 ROCK DITCH LINER	8/26/25	9/2/25	1	73.60	CUYD	Lenoir St. STA 404+50 to STA 409+44					
340	6161025	CHANNELIZER (TRIM-LINE)	8/22/25	9/2/25	1	76.00	EA	Routen63 NB On Ramp					
0560	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	8/29/25	9/2/25	1	0.05	LS	Paying 5% for surveying and staking done to date.					
1590	7250312A	12 IN. PIPE CULVERT GROUP B	8/28/25	9/2/25	1	47.00	LF	P-72 Added					
0600	7250315A	15 IN. PIPE CULVERT GROUP B	8/22/25	9/2/25	1	18.30	LF	P-68A					
1670	7261015	15 IN. PIPE GROUP A	8/22/25	9/2/25	1	46.50	LF	P-67A					
710	7261048	48 IN. PIPE GROUP A	8/26/25	9/2/25	1	40.00	LF	P-41					
720	7269903	MISC. RIGID PIPE CULVERT	8/26/25	9/2/25	1	114.00	LF	P-43					
770	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	8/1/25	8/24/25	1	-5.00	FT	Inspector paid 5 LF instead of 6 LF for I-52. Quantity will be taken off on this DWR and added back on another DWR dated 8/1/25.					
				8/24/25	1	6.00	FT	Inspector paid 5 LF instead of 6 LF for I-52. Correct quantity will be posted on this DWR.					
780	7319903	MISC. MANHOLES AND DROP INLETS	8/22/25	9/2/25	1	13.00	LF	I-73 and I-74.					
1860	7320015A	15 IN. GROUP B FLARED END SEC	8/22/25	9/2/25	1	1.00	EA	FES-75					
1030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	8/27/25	9/2/25	1	248.10	SQYD	Route 63 NB On Ramp STA 7+26 to STA 39+04					
1040	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED	8/27/25	9/2/25	1	4,649.70	SQYD	Route 63 NB On Ramp STA 7+26 to STA 39+04					
1130	3040504	TYPE 5 AGGREGATE FOR BASE	8/28/25	9/2/25	1	8,000.00	SQYD	Lenoir ST to STA 409+00					
1240	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	8/18/25	9/2/25	1	166.00	LF	Route AC Lenoir and New Haven Elementary School Pull Box 2 to 3.					
1250	9014003	CONDUIT, 3 IN. RIGID, PUSHED	8/26/25	9/2/25	1		LF	Route AC / Lenoir Lighting (from pull box 1 to signaling pull box 3 and Route AC / Lenoir Signaling pull box 3 to Lighting pull box 2					
530	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	8/20/25	9/2/25	1	110.00	LF	Route AC and Lemone: Lumen pull box to pull box 4					
1570	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	8/26/25	9/2/25	1	180.00	LF	Route AC and Lenoir St. intersection pull box 1 to 2 and 2 to 3 $$					
1640	9029100	BASE, CONCRETE	8/18/25	9/2/25	1	6.02	CUYD	Route AC STA 155+02.2 OS 37.7R and Route AC STA 154+23.6 OS 49.9R					
210	6039902	WATER - UTILITY ITEM	8/18/25	9/2/25	1	2.00	EA	Lenoir St. STA 5+59. 1 Tee and 1 45-degree bend.					
			8/19/25	9/2/25	1	1.00	EA	Lenoir St. STA 4+26 - 45-degree bend.					
			8/21/25	9/2/25	1	2.00	EA	1 - 45-degree bend and 1 - 22-degree bend.					
			8/25/25	9/2/25	1	2.00	EA	1 45-degree bend and 1 reducer					
220	6039902	WATER - UTILITY ITEM	8/18/25	9/2/25	1	2.00	EA	Lenoir St. STA 5+59					
280	6039903	WATER - UTILITY ITEM	8/18/25	9/2/25	1	30.00	LF	Lenoir St. STA 5+59 to STA 5+25.					
			8/19/25	9/2/25	1	220.00	LF	Lenoir St. STA 5+25 to STA 3+05					
			8/20/25	9/2/25	1	260.00	LF	Lenoir St. STA 3+05 to STA 0+45					
			8/21/25	9/2/25	1	80.00	LF	South Route AC STA to STA					
			8/25/25	9/2/25	1	80.00	LF	South of Route AC STA 6+71 to STA 7+51					
2290	6039903	WATER - UTILITY ITEM	8/18/25		1	52.00	LF	Lenoir St. STA 15+54 to STA 5+59.					
5012	7319913	MISC. MANHOLES AND DROP INLETS	8/26/25		- 1	6.00		1-44					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 14 of 35



SPY4435   0.00   CMARAMORET IN   Makeful	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2025   SysTem   15.000.003   This education of the current Psymen Editions   Easing the Major Engine Confidence   Psymen Editions   Psym	J5P3433	0030		Material		6		SYSTEM	(\$1,920.00)	
7 May 2, SYSTEM   51,020.00   This adjustment offsets the original system-generated Material Payment Editinate Exemption in the Eurorah Payment Editinate Exemption in the Editinate Exemption in the Eurorah Payment Editinate Exemption in the Editinate Exemption in the European Payment Editina						6		SYSTEM	\$1,920.00	Estimate Item Adjustment (0001) due to user jessem1 overridding Payment
2025   Settings   Ben Adjustment (0007) due to use please please to setting   Payment   Estings   Estings   Payment   Estings   Payment   Estings   Payment   Paymen						7		SYSTEM	(\$1,920.00)	
8						7		SYSTEM	\$1,920.00	Estimate Item Adjustment (0001) due to user jessem1 overridding Payment
2025   SYSTEM   (349 92000)   This adjustment (001) due to user jessem1 overriding Payment Estimate Exception 1 on the current Payment Serional S						8		SYSTEM	(\$49,920.00)	
9						8		SYSTEM	\$49,920.00	Estimate Item Adjustment (0001) due to user jessem1 overridding Payment
2025   SysTeM   Catamate   Each Agustment (0001) due to user jeasent overridding Payment						9		SYSTEM	(\$49,920.00)	
10						9		SYSTEM	\$49,920.00	Estimate Item Adjustment (0001) due to user jessem1 overridding Payment
11						10		SYSTEM	(\$49,920.00)	
1						10		SYSTEM	\$49,920.00	Estimate Item Adjustment (0001) due to user vandoe1 overridding Payment
Solid   Street   Solid   Street   Solid   Street   Solid   S						11		SYSTEM	(\$49,920.00)	
Material - Total   So.00   So.00						11		SYSTEM	\$49,920.00	Estimate Item Adjustment (0001) due to user jessem1 overridding Payment
Material   Comparison   Material					- Total				\$0.00	
Material				Material - Tota	l				\$0.00	
EMBANKMENT		0030 -	- Total						\$0.00	
2025   Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.		0040		Material		6		SYSTEM	(\$10,000.00)	
2025   7						6		SYSTEM	\$10,000.00	Estimate Item Adjustment (0002) due to user jessem1 overridding Payment
Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  8 May 16, 2025 8 May 16, 2025 9 Jun 2, 2025 9 Jun 2, 2025 9 Jun 2, 2025 10 Jun 16, 2025 10 Jun 16, 2025 10 Jun 17, 2025 10 Jun 18, 2025 10 Jun 18, 2025 10 Jun 19, 2025 11 Jul 1, 2025 11 Jul 1, 2025 12 SYSTEM 13 SYSTEM 13 SYSTEM 23 SYSTEM 23 SYSTEM 23 SYSTEM 25 SYSTEM 25 SYSTEM 25 SYSTEM 25 SYSTEM 25 SYSTEM 26 SYSTEM 26 SYSTEM 26 SYSTEM 26 SYSTEM 27 SYSTEM 28 SYSTEM 28 SYSTEM 29 SYSTEM 2025 2025 2025 2025 2026 2026 2027 2027 2028 2028 2029 2029 2029 2029 2029 2029						7		SYSTEM	(\$13,277.20)	
8 May 16, 2025   SYSTEM   \$15,798.00   This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.  9 Jun 2, 2025   SYSTEM   \$35,798.00   This adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  10 Jun 16, SYSTEM   \$35,798.00   System   System						7		SYSTEM	\$13,277.20	Estimate Item Adjustment (0002) due to user jessem1 overridding Payment
Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  9 Jun 2, 2025  9 Jun 2, 2025  SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  10 Jun 16, 2025  SYSTEM \$35,798.00  10 Jun 16, SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.  11 Jul 1, SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user vandoe1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  11 Jul 1, SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00						8		SYSTEM	(\$15,798.00)	
2025  9 Jun 2, 2025  10 Jun 16, 2025  11 Jul 1, 2025  11 Jul 1, 2025  12 SYSTEM  13 SySTEM  13 SySTEM  23 SySTEM  23 SySTEM  23 SySTEM  23 SySTEM  25 SySTEM  26 SySTEM  26 SySTEM  27 SySTEM  28 SySTEM  28 SySTEM  28 SySTEM  29 SySTEM  20 SySTEM						8		SYSTEM	\$15,798.00	Estimate Item Adjustment (0002) due to user jessem1 overridding Payment
Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  10 Jun 16, 2025  10 Jun 16, 2025  SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user vandoe1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  11 Jul 1, 2025  11 Jul 1, 2025  SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00  Material - Total						9		SYSTEM	(\$35,798.00)	
2025  10 Jun 16, 2025 SYSTEM \$35,798.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user vandoe1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  11 Jul 1, 2025 SYSTEM \$35,798.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00						9		SYSTEM	\$35,798.00	Estimate Item Adjustment (0002) due to user jessem1 overridding Payment
2025 Estimate Item Adjustment (0002) due to user vandoe1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  11 Jul 1, 2025  11 Jul 1, SYSTEM \$35,798.00  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00  Material - Total \$0.00						10		SYSTEM	(\$35,798.00)	
2025  11 Jul 1, 2025  SYSTEM \$35,798.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00  Material - Total \$0.00						10		SYSTEM	\$35,798.00	Estimate Item Adjustment (0002) due to user vandoe1 overridding Payment
2025 Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.  - Total \$0.00  Material - Total \$0.00						11		SYSTEM	(\$35,798.00)	
Material - Total \$0.00						11		SYSTEM	\$35,798.00	Estimate Item Adjustment (0002) due to user jessem1 overridding Payment
					- Total				\$0.00	
0040 - Total \$0.00				Material - Tota					\$0.00	
		0040	- Total						\$0.00	



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J5P3433	0080	TYPE 5 AGGREGATE FOR BASE	Material		13	Aug 4, 2025	SYSTEM	(\$4,385.50)	
		FOR BASE			13	Aug 4, 2025	SYSTEM	\$4,385.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$26,547.59)	
					14	Aug 18, 2025	SYSTEM	\$26,547.59	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$40,191.64)	
					15	Sep 2, 2025	SYSTEM	\$40,191.64	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception For the current Payment Estimate.
			Material - Tota					\$0.00	
	0080	- Total						\$0.00	
	0100	TYPE A2 SHOULDER	Material		13	Aug 4, 2025	SYSTEM	(\$26,492.00)	
					13	Aug 4, 2025	SYSTEM	\$26,492.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$26,492.00)	·
					14	Aug 18, 2025	SYSTEM	\$26,492.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$135,938.00)	
					15	Sep 2, 2025	SYSTEM	\$135,938.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00 \$0.00	
	0100	- Total	Material - Tota						
	<b>0100</b> -	-Total PAVED APPROACH, 8 IN.	Material - Tota		13	Aug 4, 2025	SYSTEM	\$0.00	
		PAVED			13		SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
		PAVED				2025 Aug 4,		\$0.00 \$0.00 (\$3,003.00)	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		PAVED			13	2025 Aug 4, 2025 Aug 18,	SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		PAVED			13	2025 Aug 4, 2025 Aug 18, 2025 Aug 18,	SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00)	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		PAVED			13 14 14	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		PAVED	Material	- Total	13 14 14 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60)	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		PAVED		- Total	13 14 14 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$91,075.60	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
	0180	PAVED	Material	- Total	13 14 14 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$91,075.60	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
	0180	PAVED APPROACH, 8 IN.  -Total  FURN. TYPE 2 ROCK DITCH	Material	- Total	13 14 14 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$91,075.60	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
	0180	PAVED APPROACH, 8 IN.  Total  FURN. TYPE 2	Material  Material - Tota	- Total	13 14 14 15 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$0.00 \$0.00 \$0.00 \$2,448.00)	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
	0180	PAVED APPROACH, 8 IN.  -Total  FURN. TYPE 2 ROCK DITCH	Material - Tota	- Total	13 14 14 15 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$0.00 \$0.00 \$2,448.00) \$2,448.00	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment
	<b>0180</b> - <b>0220</b>	PAVED APPROACH, 8 IN.  -Total  FURN. TYPE 2 ROCK DITCH LINER	Material  Material - Tota	- Total	13 14 14 15 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) (\$5,313.00 (\$91,075.60) \$91,075.60 \$0.00 \$0.00 \$2,448.00) \$2,448.00	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment
	<b>0180</b> - <b>0220</b>	PAVED APPROACH, 8 IN.  -Total  FURN. TYPE 2 ROCK DITCH	Material - Tota	- Total	13 14 14 15 15	2025 Aug 4, 2025 Aug 18, 2025 Aug 18, 2025 Sep 2, 2025 Sep 2, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,003.00) \$3,003.00 (\$5,313.00) \$5,313.00 (\$91,075.60) \$0.00 \$0.00 \$2,448.00) \$2,448.00	Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment Estimate Item Adjustment (0003) due to user vandoe1 overridding Payment



				1	1	1			
t L	ine.	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
33 03	320	CONSTRUCTION SIGNS	Material		4	Mar 17, 2025	SYSTEM	\$340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user Jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
01	220	Total		"				\$0.00	
			_	_					
03	340	CHANNELIZER (TRIM-LINE)	Overrun	Overrun	12	Jul 16, 2025	SYSTEM	(\$881.50)	
					13	Aug 4, 2025	SYSTEM	\$881.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',21.50000 - 21.50000, 'is applied (if non-zero).
					15	Sep 2, 2025	SYSTEM	(\$1,634.00)	
				Overrun - T	otal			(\$1,634.00)	
			Overrun - Tota	al				(\$1,634.00)	
01	340 -	Total						(\$1,634.00)	
		TYPE 3 MOVEABLE	Material		4	Mar 17, 2025	SYSTEM	(\$660.00)	
		BARRICADE			4	Mar 17, 2025	SYSTEM	\$660.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
					40	A 4	OVOTEM		
			Overrun	Overrun	13	Aug 4, 2025	SYSTEM	(\$660.00) \$660.00	Hait wise board on a constant of constant of the installed account of
					14	Aug 18, 2025	SYSTEM	\$000.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',165.00000 - 165.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
03	350 -	Total						\$0.00	
03	370	CHANGEABLE MESSAGE SIGN	Material		6	Apr 16, 2025	SYSTEM	(\$2,650.00)	
		WITH COMMUNICATION INTERFACE,			6	Apr 16, 2025	SYSTEM	\$2,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
		CONTRACTOR							Estimate Exception 4 on the current Payment Estimate.
		FURNISHED / RETAINED		- Total				\$0.00	
			Material - Tota	1				\$0.00	
			Overrun	Overrun	11	Jul 1, 2025	SYSTEM	(\$2,650.00)	
					13	Aug 4, 2025	SYSTEM	\$2,650.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2650.00000 - 2650.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
0:	370 -	Total						\$0.00	
		TEMPORARY TRAFFIC	Overrun	Overrun	12	Jul 16, 2025	SYSTEM	(\$14,393.00)	
		BARRIER, CONT. FURN/RE			13	Aug 4, 2025	SYSTEM	\$14,393.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',37.00000 - 37.00000, 'is applied (if non-zero).
				Overnus -T	otal .			-00.00	-th
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
03	380 -	Total						\$0.00	
04	440	TEMPORARY REMOVABLE MARKING TAPE 4	Overrun	Overrun	12	Jul 16, 2025	SYSTEM	(\$13,553.60)	
		IN.,			13	Aug 4, 2025	SYSTEM	\$13,553.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.15000 - 2.15000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
								\$0.00	
			Overrun - Tota	1					



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	0440 -	Total						\$0.00	
	0450	TEMPORARY REMOVABLE	Material		9	Jun 2, 2025	SYSTEM	(\$5,562.05)	
		MARKING TAPE			9	Jun 2, 2025	SYSTEM	\$5,562.05	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment
									Estimate Exception 4 on the current Payment Estimate.
			Material Tate	- Total				\$0.00	
	0450 -	Total	Material - Tota	ll .				\$0.00 \$0.00	
	0580	REINFORCING	Material		8	May 16,	SYSTEM	(\$61,593.20)	
	0000	STEEL (CULVERTS)	material		8	2025 May 16,	SYSTEM	\$61,593.20	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Jun 2, 2025	SYSTEM	(\$61,593.20)	
					9	Jun 2, 2025	SYSTEM	\$61,593.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0580 -	Total						\$0.00	
	0590	12 IN. PIPE CULVERT GROUP B	Material		11	Jul 1, 2025	SYSTEM	(\$2,535.00)	
					11	Jul 1, 2025	SYSTEM	\$2,535.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$2,535.00)	
					12	Jul 16, 2025	SYSTEM	\$2,535.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$2,535.00)	
					13	Aug 4, 2025	SYSTEM	\$2,535.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$2,535.00)	
					14	Aug 18, 2025	SYSTEM	\$2,535.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$4,885.00)	
					15	Sep 2, 2025	SYSTEM	\$4,885.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Overrun	Overrun	15	Sep 2, 2025	SYSTEM	(\$2,335.00)	
				Overrun - To	otal			(\$2,335.00)	
			Overrun - Tota	ıl				(\$2,335.00)	
		Total					21/2	(\$2,335.00)	
	0600	15 IN. PIPE CULVERT GROUP B	Material		9	Jun 2, 2025	SYSTEM	(\$10,348.00)	This all the state of the state
					9	Jun 2, 2025	SYSTEM	\$10,348.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$24,654.50)	
					10	Jun 16, 2025	SYSTEM	\$24,654.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user vandoe1 overridding Payment Estimate Exception 19 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	0600	15 IN. PIPE CULVERT GROUP	Material	- Total				\$0.00	
		В	Material - Tota	ıl				\$0.00	
	0600 -		Matarial		40	l 40	OVOTEM	\$0.00	
	0620	24 IN. PIPE CULVERT GROUP	Material		10	Jun 16, 2025	SYSTEM	(\$5,678.20)	
		В			10	Jun 16, 2025	SYSTEM	\$5,678.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user vandoe1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0620 -	Total						\$0.00	
	0630	30 IN. PIPE CULVERT GROUP	Material		9	Jun 2, 2025	SYSTEM	(\$3,520.80)	
		В			9	Jun 2, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$3,520.80)	
					10	Jun 16, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user vandoe1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					11	Jul 1, 2025	SYSTEM	(\$3,520.80)	
					11	Jul 1, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$3,520.80)	
					12	Jul 16, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$3,520.80)	
					13	Aug 4, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jessem1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$3,520.80)	
					14	Aug 18, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$3,520.80)	
					15	Sep 2, 2025	SYSTEM	\$3,520.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	il				\$0.00	
	0630 -							\$0.00	
	0640	36 IN. PIPE CULVERT GROUP	Material		9	Jun 2, 2025	SYSTEM	(\$5,611.50)	
		В			9	Jun 2, 2025	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$5,611.50)	
					11	Jul 1, 2025	SYSTEM	(\$5,611.50)	
					11	Jul 1, 2025	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$5,611.50)	
					12	Jul 16,	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	0640	36 IN. PIPE CULVERT GROUP B	Material			2025			Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$5,611.50)	
					13	Aug 4, 2025	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$5,611.50)	
					14	Aug 18, 2025	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$5,611.50)	
					15	Sep 2, 2025	SYSTEM	\$5,611.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				- Total				(\$5,611.50)	
			Material - Tota	ı				(\$5,611.50)	
			MaterialCredit		11	Jul 1, 2025	SYSTEM	\$5,611.50	
				- Total				\$5,611.50	
			MaterialCredit	- Total				\$5,611.50	
	0640	Total						\$0.00	
	0650	54 IN. PIPE CULVERT GROUP B	Overrun	Overrun	13	Aug 4, 2025	SYSTEM	(\$111.00)	
					14	Aug 18, 2025	SYSTEM	\$111.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',185.00000 - 185.00000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0650 -	- Total						\$0.00	
	0670	15 IN. PIPE GROUP A	Material		9	Jun 2, 2025	SYSTEM	(\$8,836.00)	
					9	Jun 2, 2025	SYSTEM	\$8,836.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$8,836.00)	
					10	Jun 16, 2025	SYSTEM	\$8,836.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user vandoe1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				Total					
				- Total				\$0.00	
			Material - Tota					\$0.00 \$0.00	
	0670	- Total	Material - Tota						
		-Total 24 IN. PIPE GROUP A	Material - Tota		12	Jul 16, 2025	SYSTEM	\$0.00	
		24 IN. PIPE			12		SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
		24 IN. PIPE				2025 Jul 16,		\$0.00 \$0.00 (\$3,662.10)	Estimate Item Adjustment (0007) due to user jessem1 overridding Payment
		24 IN. PIPE			12	2025 Jul 16, 2025 Aug 4,	SYSTEM	\$0.00 \$0.00 (\$3,662.10) \$3,662.10	Estimate Item Adjustment (0007) due to user jessem1 overridding Payment
		24 IN. PIPE			12	2025 Jul 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,662.10) \$3,662.10	Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment
		24 IN. PIPE			12 13	2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,662.10) \$3,662.10 (\$3,662.10)	Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment
		24 IN. PIPE			12 13 13	2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,662.10) \$3,662.10 (\$3,662.10) (\$3,662.10)	Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 24 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
433	0680	24 IN. PIPE GROUP A	Material						Estimate Exception 19 on the current Payment Estimate.
		GROUP A		- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0680 -	Total						\$0.00	
	0690	30 IN. PIPE GROUP A	Material		9	Jun 2, 2025	SYSTEM	(\$30,720.00)	
					9	Jun 2, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$30,720.00)	
					10	Jun 16, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user vandoe1 overridding Paymer Estimate Exception 24 on the current Payment Estimate.
					11	Jul 1, 2025	SYSTEM	(\$30,720.00)	
					11	Jul 1, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Paymen Estimate Exception 15 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$30,720.00)	
					12	Jul 16, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Paymen Estimate Exception 15 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$30,720.00)	
					13	Aug 4, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jessem1 overridding Paymer Estimate Exception 25 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$30,720.00)	
						14	Aug 18, 2025	SYSTEM	\$30,720.00
					15	Sep 2, 2025	SYSTEM	(\$30,720.00)	
					15	Sep 2, 2025	SYSTEM	\$30,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jessem1 overridding Paymer Estimate Exception 20 on the current Payment Estimate.
		N		- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	<b>0690 -</b> 0710	Total 48 IN. PIPE	Material		15	Sep 2,	SYSTEM	<b>\$0.00</b> (\$10,600.00)	
		GROUP A			15	2025 Sep 2, 2025	SYSTEM	\$10,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Paymer Estimate Exception 21 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 21 on the surrout aymont Estimate.
			Material - Tota					\$0.00	
	0710 -	Total						\$0.00	
		MISC. MANHOLES AND DROP	Overrun	Overrun	9	Jun 2, 2025	SYSTEM	(\$1,125.00)	
		INLETS			10	Jun 16, 2025	SYSTEM	\$1,125.00	Unit price based on averaged overrun adjustments for installed quantity or previous payment estimates. Price Adjustments of ',1125.00000 - 1125.00 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0790 -	Total						\$0.00	
	0800	MISC. MANHOLES AND DROP	Overrun	Overrun	9	Jun 2, 2025	SYSTEM	(\$2,625.00)	
		INLETS			10	Jun 16, 2025	SYSTEM	\$2,625.00	Unit price based on averaged overrun adjustments for installed quantity or previous payment estimates. Price Adjustments of ',2625.00000 - 2625.00 'is applied (if non-zero).



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
iP3433	0800	MISC. MANHOLES AND DROP	Overrun Tak	Overrun - T	otal			\$0.00	
	0800 -	INLETS	Overrun - Tota	11				\$0.00 \$0.00	
	0840	MISC. MANHOLES	Material		12	Jul 16,	SYSTEM	(\$69,000.00)	
		AND DROP INLETS			12	2025 Jul 16, 2025	SYSTEM	\$69,000.00	This adjustment offsets the original system-generated Material Payment
					13	Aug 4,	SYSTEM	(\$82,500.00)	Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
						2025		, ,	
					13	Aug 4, 2025	SYSTEM	\$82,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$82,500.00)	
					14	Aug 18, 2025	SYSTEM	\$82,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$82,500.00)	
					15	Sep 2, 2025	SYSTEM	\$82,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	d				\$0.00	
	0840 -							\$0.00	
	0920	30 IN. GROUP A FLARED END	Material		9	Jun 2, 2025	SYSTEM	(\$925.00)	
		SECT			9	Jun 2, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$925.00)	
					10	Jun 16, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user vandoe1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
					11	Jul 1, 2025	SYSTEM	(\$925.00)	
					11	Jul 1, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$925.00)	
					12	Jul 16, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$925.00)	
					13	Aug 4, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jessem1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$925.00)	
					14	Aug 18, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$925.00)	
					15	Sep 2, 2025	SYSTEM	\$925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0920 -	Total						\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	0940	MULCHING	Material		11	Jul 1, 2025	SYSTEM	(\$488.40)	
					11	Jul 1, 2025	SYSTEM	\$488.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jessem1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$3,036.00)	
					12	Jul 16, 2025	SYSTEM	\$3,036.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$3,036.00)	
					13	Aug 4, 2025	SYSTEM	\$3,036.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0940 -	Total		*				\$0.00	
	0950	SEEDING - COOL SEASON	Material		11	Jul 1, 2025	SYSTEM	(\$621.60)	
		GRASSES			11	Jul 1, 2025	SYSTEM	\$621.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jessem1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$3,864.00)	
					12	Jul 16, 2025	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$3,864.00)	
					13	Aug 4, 2025	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user jessem1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$3,864.00)	
					14	Aug 18, 2025	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$3,864.00)	
					15	Sep 2, 2025	SYSTEM	\$3,864.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jessem1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0950 -	Total						\$0.00	
	0970	ROCK DITCH CHECK	Overrun	Overrun	2	Feb 18, 2025	SYSTEM	(\$297.00)	
					3	Mar 3, 2025	SYSTEM	(\$346.50)	
					5	Apr 3, 2025	SYSTEM	\$643.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',16.50000 - 16.50000, 'is applied (if non-zero).
					14	Aug 18, 2025	SYSTEM	(\$198.00)	
				Overrun - To	otal			(\$198.00)	
			Overrun - Tota	ıl				(\$198.00)	
	0970 -	Total						(\$198.00)	
	1020	SILT FENCE	Material		3	Mar 3, 2025	SYSTEM	(\$3,993.30)	
					3	Mar 3, 2025	SYSTEM	\$3,993.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Mar 17, 2025	SYSTEM	(\$3,993.30)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5P3433	1020	SILT FENCE	Material		4	Mar 17, 2025	SYSTEM	\$3,993.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					5	Apr 3, 2025	SYSTEM	(\$3,993.30)	
					5	Apr 3, 2025	SYSTEM	\$3,993.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Apr 16, 2025	SYSTEM	(\$3,993.30)	
					6	Apr 16, 2025	SYSTEM	\$3,993.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	May 2, 2025	SYSTEM	(\$3,993.30)	
					7	May 2, 2025	SYSTEM	\$3,993.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jessem1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	May 16, 2025	SYSTEM	(\$4,550.10)	
					8	May 16, 2025	SYSTEM	\$4,550.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					9	Jun 2, 2025	SYSTEM	(\$4,863.30)	
					9	Jun 2, 2025	SYSTEM	\$4,863.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					10	Jun 16, 2025	SYSTEM	(\$4,863.30)	
					10	Jun 16, 2025	SYSTEM	\$4,863.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user vandoe1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					11	Jul 1, 2025	SYSTEM	(\$4,863.30)	
					11	Jul 1, 2025	SYSTEM	\$4,863.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$4,863.30)	
					12	Jul 16, 2025	SYSTEM	\$4,863.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$5,075.00)	
					13	Aug 4, 2025	SYSTEM	\$5,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$5,101.10)	
					14	Aug 18, 2025	SYSTEM	\$5,101.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$5,101.10)	
					15	Sep 2, 2025	SYSTEM	\$5,101.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
			Material - Tota	- Total				\$0.00 \$0.00	
	1020	Total	Material - Tota					\$0.00	
		IJIAI			10	Jun 16,	SYSTEM	(\$39,938.22)	
		TYPE 5	Material		10		OTOTEW	(400,000.22)	
		TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		10	Jun 16, 2025	SYSTEM	\$39,938.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user vandoe1 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	1030	TYPE 5	Material			2025			
		AGGREGATE FOR BASE (6 IN. THICK)			11	Jul 1, 2025	SYSTEM	\$39,938.23	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$39,938.23)	
					12	Jul 16, 2025	SYSTEM	\$39,938.23	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$39,938.23)	
					13	Aug 4, 2025	SYSTEM	\$39,938.23	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$107,062.63)	
					14	Aug 18, 2025	SYSTEM	\$107,062.63	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$110,846.15)	
					15	Sep 2, 2025	SYSTEM	\$110,846.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 5 on the current rayment Estimate.
			Material - Tota	ıl				\$0.00	
			Overrun	Overrun	15	Sep 2, 2025	SYSTEM	(\$3,775.90)	
				Overrun - To	otal			(\$3,775.90)	
			Overrun - Tota	al				(\$3,775.90)	
	1030 -	Total						(\$3,775.90)	
	1040	CONCRETE PAVEMENT (10	Construction Stockpile		10	Jun 16, 2025	SYSTEM	(\$29,028.06)	Payment Estimate Item Adjustment generated Stockpile Transaction
		IN. NON- REINFORCED			11	Jul 1, 2025	SYSTEM	(\$6,607.84)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$35,635.90)	
			Construction	Stockpile - To	otal			(\$35,635.90)	
			Construction Stockpile		10	Jun 16,	SYSTEM	\$35,635.90	Payment Estimate Item Adjustment generated Stockpile Transaction
						2025	STOTEW	400,000.00	, , , , , , , , , , , , , , , , , , , ,
			STMI	- Total		2025	STSTEM	\$35,635.90	
					/II - Total	2025	STOTEM		
			STMI		MI - Total 10	Jun 16, 2025	SYSTEM	\$35,635.90	
			STMI Construction			Jun 16,		\$35,635.90 \$35,635.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			STMI Construction		10	Jun 16, 2025 Jun 16,	SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment
			STMI Construction		10	Jun 16, 2025 Jun 16, 2025 Jul 1,	SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment
			STMI Construction		10 10 11	Jun 16, 2025 Jun 16, 2025 Jul 1, 2025 Jul 1,	SYSTEM SYSTEM SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00 (\$225,225.40)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment
			STMI Construction		10 10 11 11	Jun 16, 2025 Jun 16, 2025 Jul 1, 2025 Jul 1, 2025 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00 (\$225,225.40) \$225,225.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment
			STMI Construction		10 10 11 11 11 12	Jun 16, 2025 Jun 16, 2025 Jul 1, 2025 Jul 1, 2025 Jul 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00 (\$225,225.40) \$225,225.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment
			STMI Construction		10 10 11 11 11 12 12 12	Jun 16, 2025 Jun 16, 2025 Jul 1, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00 (\$225,225.40) \$225,225.40 (\$225,225.40)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment
			STMI Construction		10 10 11 11 11 12 12 13	Jun 16, 2025 Jun 16, 2025 Jul 1, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$35,635.90 \$35,635.90 (\$29,068.00) \$29,068.00 (\$225,225.40) \$225,225.40 (\$225,225.40) \$225,225.40 (\$225,225.40)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user vandoe1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.



					1				
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	1040	CONCRETE PAVEMENT (10	Material			2025			Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
		IN. NON- REINFORCED			15	Sep 2, 2025	SYSTEM	(\$315,524.37)	
					15	Sep 2, 2025	SYSTEM	\$315,524.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
			Overrun	Overrun	15	Sep 2, 2025	SYSTEM	(\$21,293.60)	
				Overrun - T	otal			(\$21,293.60)	
			Overrun - Tota	ıl				(\$21,293.60)	
	1040	- Total						(\$21,293.60)	
	1090	TYPE 5 AGGREGATE	Material		13	Aug 4, 2025	SYSTEM	(\$29,618.25)	
		FOR BASE (6 IN. THICK)			13	Aug 4, 2025	SYSTEM	\$29,618.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user jessem1 overridding Payment
					14	Aug 18,	SYSTEM	(\$31,913.25)	Estimate Exception 5 on the current Payment Estimate.
					14	2025 Aug 18, 2025	SYSTEM	\$31,913.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user jessem1 overridding Payment
					15	Sep 2, 2025	SYSTEM	(\$31,913.25)	Estimate Exception 5 on the current Payment Estimate.
					15	Sep 2,	SYSTEM	\$31,913.25	This adjustment offsets the original system-generated Material Payment
					15	2025	OTOTEW	ψ01,010.23	Estimate ltem Adjustment (0020) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1090 -	- Total						\$0.00	
	4400								
	1100	CONCRETE PAVEMENT (9 IN.	Construction Stockpile		13	Aug 4, 2025	SYSTEM	(\$109,320.18)	Payment Estimate Item Adjustment generated Stockpile Transaction
	1100			- Total	13		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
	1100	PAVEMENT (9 IN. NON-					SYSTEM	(\$109,320.18)	Payment Estimate Item Adjustment generated Stockpile Transaction
	1100	PAVEMENT (9 IN. NON-	Construction Construction Stockpile				SYSTEM	(\$109,320.18) (\$109,320.18)	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
	1100	PAVEMENT (9 IN. NON-	Stockpile  Construction  Construction		otal	2025 Jun 16,		(\$109,320.18) (\$109,320.18) (\$109,320.18)	
	1100	PAVEMENT (9 IN. NON-	Construction Construction Stockpile	Stockpile - To	otal 10	2025 Jun 16,		(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18	
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile	Stockpile - To	otal 10	2025 Jun 16,		(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18	
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile STMI Construction	Stockpile - To	otal 10 VII - Total	Jun 16, 2025	SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18	
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile STMI Construction	Stockpile - To	otal 10 VII - Total 13	Jun 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50)	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile STMI Construction	Stockpile - To	otal 10 MI - Total 13	Jun 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18,	SYSTEM SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50) \$177,709.50	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile STMI Construction	Stockpile - To	otal 10 MI - Total 13 13	2025  Jun 16, 2025  Aug 4, 2025  Aug 4, 2025  Aug 18, 2025  Aug 18, 4, 2025	SYSTEM SYSTEM SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50) \$177,709.50	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment
	1100	PAVEMENT (9 IN. NON-	Construction Stockpile STMI Construction	Stockpile - To	otal 10 MI - Total 13 13	2025  Jun 16, 2025  Aug 4, 2025  Aug 4, 2025  Aug 18, 2025  Aug 18, 4, 2025	SYSTEM SYSTEM SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50) \$177,709.50 (\$191,479.50)	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment
	1100	PAVEMENT (9 IN. NON-	Construction Construction Stockpile STMI  Construction Material	Stockpile - To	otal 10 MI - Total 13 13	2025  Jun 16, 2025  Aug 4, 2025  Aug 4, 2025  Aug 18, 2025  Aug 18, 4, 2025	SYSTEM SYSTEM SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50) \$177,709.50 (\$191,479.50) \$191,479.50	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment
	1100	PAVEMENT (9 IN. NON-	Construction : Construction : Construction : Stockpile STMI  Construction : Material  Material - Total Other Item	Stockpile - To - Total Stockpile STI - Total	otal 10 Wil - Total 13 13 14	2025  Jun 16, 2025  Aug 4, 2025  Aug 4, 2025  Aug 18, 2025  Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$109,320.18) (\$109,320.18) (\$109,320.18) \$109,320.18 \$109,320.18 \$109,320.18 (\$177,709.50) \$177,709.50 (\$191,479.50) \$191,479.50 \$0.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  Line item adjustment for compressive strength for Line 1100 pay factor. Lot #1. Unit price = \$76.50/SY. Strength pay factor = 105.0. SY in Lot 1 = 769 SY. In accordance with the Missouri Department of Transportation Standard Specifications Sec. 502.15.14: PFtotal = (0.5)PFthickness +



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J5P3433	1100	CONCRETE PAVEMENT (9 IN. NON-	Other Item Adjustment	PCCS					In accordance with the Missouri Department of Transportation Standard Specifications Sec. 502.15.14: PFtotal = (0.5)PFthickness + (0.5)PFcompressive strength. 764 SY * \$76.50 * (1+ (0.035*0.5) = \$1,022.81.	
		REINFORCED,		PCCS - Tota	al			\$4,348.65		
				PCCT	15	Sep 2, 2025	jessem1	\$647.11	Line item adjustment for thickness for Line 1100 pay factor. Lot #1. Unit price = \$76.50/SY. Thickness pay factor = 102.2. SY in Lot 1 = 769 SY. In accordance with the Missouri Department of Transportation Standard Specifications Sec. 502.15.14: PFtotal = (0.5)PFthickness +	
									(0.5)PFcompressive strength. 769 SY * \$76.50 * (1+ (0.022*0.5) = \$647.11.	
					15	Sep 2, 2025	jessem1	\$1,855.13	Line item adjustment for thickness for Line 1100 pay factor. Lot #2. Unit price = \$76.50/SY. Thickness pay factor = 105.0. SY in Lot 2 = 970 SY. In accordance with the Missouri Department of Transportation Standard Specifications Sec. 502.15.14: PPtotal = (0.5)PFthickness + (0.5)PFcompressive strength. 970 SY * \$76.50 * (1+ (0.05*0.5) = \$1,855.13.	
					15	Sep 2, 2025	jessem1	\$1,461.15	Line item adjustment for thickness for Line 1100 pay factor. Lot #3. Unit price = \$76.50/SY. Thickness pay factor = 105.0. SY in Lot 3 = 764 SY. In accordance with the Missouri Department of Transportation Standard Specifications Sec. 502.15.14: Pftotal = (0.5)PFthickness + (0.5)PFcompressive strength. 764 SY * \$76.50 * (1+ (0.05*0.5) = \$1,461.15.	
				PCCT - Tota	ıl			\$3,963.39		
			Other Item Ad	justment - To	tal			\$8,312.04		
	1100	- Total						\$8,312.04		
	1130	TYPE 5 AGGREGATE	Material		15	Sep 2, 2025	SYSTEM	(\$77,200.00)		
		FOR BASE			15	Sep 2, 2025	SYSTEM	\$77,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
	1130 -	- Total						\$0.00		
	1170	MGS GUARDRAIL	Construction Stockpile		13	Aug 4, 2025	SYSTEM	(\$9,436.81)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					- Total				(\$9,436.81)	
								(40,100.01)		
			Construction	Stockpile - To	otal			(\$9,436.81)		
			Construction Stockpile	Stockpile - To	otal 5	Apr 3, 2025	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction	Stockpile - To			SYSTEM	(\$9,436.81)	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction Stockpile	- Total	5		SYSTEM	(\$9,436.81) \$37,265.63	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction Stockpile STMI	- Total	5		SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction Stockpile STMI	- Total	5 MI - Total	2025 Aug 4,		(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63	Payment Estimate Item Adjustment generated Stockpile Transaction  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
			Construction Stockpile STMI	- Total	5 MI - Total 13	2025 Aug 4, 2025 Aug 4,	SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63 (\$9,606.25)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment	
			Construction Stockpile STMI	- Total Stockpile STf - Total	5 MI - Total 13	2025 Aug 4, 2025 Aug 4,	SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment	
	1170	- Total	Construction Stockpile STMI Construction : Material	- Total Stockpile STf - Total	5 MI - Total 13	2025 Aug 4, 2025 Aug 4,	SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment	
	<b>1170</b> - 1180	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile STMI  Construction Material  Material - Total	- Total Stockpile STI - Total	5 MI - Total 13	2025 Aug 4, 2025 Aug 4,	SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment	
		MGS GUARDRAIL,	Construction Stockpile STMI  Construction Material  Material - Total	- Total Stockpile STf - Total	5 MI - Total 13 13	Aug 4, 2025  Aug 4, 2025  Aug 4, 2025	SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
		MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile STMI  Construction Material  Material - Total	- Total Stockpile STI - Total	5   Mil - Total   13   13   5	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025	SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
	1180	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile STMI  Construction Material  Material - Total  Construction Stockpile STMI	- Total Stockpile STI - Total	5   Mil - Total   13   13   5	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025	SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
	1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material  Material - Total  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI	5   Mil - Total   13   13   5	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025	SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 \$13,475.00 (\$1,491.67)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material  Material - Total  Construction Stockpile STMI  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI	5  Wil - Total  13  13  5  Wil - Total  11	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025	SYSTEM SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 \$13,475.00 (\$1,491.67)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material  Material - Tota  Construction Stockpile STMI  Construction Construction Construction	- Total Stockpile STI  - Total  - Total Stockpile STI	5  Wil - Total  13  13  5  Wil - Total  11	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025	SYSTEM SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 \$13,475.00 (\$1,491.67)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material  Material - Total  Construction Stockpile STMI  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI  - Total Stockpile - Total	5  Wil - Total  13  13  5  Wil - Total  11	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025	SYSTEM SYSTEM SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 (\$1,491.67) (\$1,491.67) \$3,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material - Tota  Construction Stockpile STMI  Construction Stockpile STMI  Construction Stockpile  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI  - Total Stockpile - Total	5  MI - Total  13  13  5  MI - Total  11  5	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025  Apr 3,	SYSTEM  SYSTEM  SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 (\$1,491.67) (\$1,491.67) \$3,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material - Total  Material - Total  Construction Stockpile STMI  Construction Stockpile  Construction Stockpile  Construction Stockpile STMI  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI  - Total Stockpile - Total	5  WI - Total  13  13  13  11  VII - Total  WI - Total	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025  Apr 3, 2025	SYSTEM  SYSTEM  SYSTEM  SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 \$13,475.00 (\$1,491.67) (\$1,491.67) \$3,580.00 \$3,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction	
	1180 1180	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile STMI  Construction Material - Tota  Construction Stockpile STMI  Construction Stockpile STMI  Construction Stockpile  Construction Stockpile STMI	- Total Stockpile STI  - Total  - Total Stockpile STI  - Total Stockpile - Total	5  MI - Total  13  13  5  MI - Total  11  5	Aug 4, 2025 Aug 4, 2025 Aug 4, 2025  Apr 3, 2025  Apr 3,	SYSTEM  SYSTEM  SYSTEM	(\$9,436.81) \$37,265.63 \$37,265.63 (\$9,606.25) \$9,606.25 \$0.00 \$0.00 \$27,828.82 \$13,475.00 \$13,475.00 (\$1,491.67) (\$1,491.67) \$3,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jessem1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3 1190	MGS END ANCHOR	Material		12	2025 Jul 16,	SYSTEM	(\$1,500.00)	Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				12	2025	SYSTEM	(\$1,500.00)	
				12	Jul 16, 2025	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jessem1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				13	Aug 4, 2025	SYSTEM	(\$1,500.00)	
				13	Aug 4, 2025	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user jessem1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
		Material - Tota	il				\$0.00	
	- Total						\$2,088.33	
1200	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		11	Jul 1, 2025	SYSTEM	(\$3,354.55)	Payment Estimate Item Adjustment generated Stockpile Transaction
	(MASH)		- Total				(\$3,354.55)	
		Construction	Stockpile - To				(\$3,354.55)	
		Construction Stockpile STMI		5	Apr 3, 2025	SYSTEM	\$7,380.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		OTIVII	- Total				\$7,380.00	
		Construction	Stockpile STI	VII - Total			\$7,380.00	
		Material		11	Jul 1, 2025	SYSTEM	(\$3,400.00)	
				11	Jul 1, 2025	SYSTEM	\$3,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				12	Jul 16, 2025	SYSTEM	(\$3,400.00)	
				12	Jul 16, 2025	SYSTEM	\$3,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				13	Aug 4, 2025	SYSTEM	(\$3,400.00)	
				13	Aug 4, 2025	SYSTEM	\$3,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
			- Total				\$0.00	
		Material - Tota	ıl				\$0.00	
1200	- Total						\$4,025.45	
1240	RIGID, IN	Material		15	Sep 2, 2025	SYSTEM	(\$3,154.00)	
	TRENCH			15	Sep 2, 2025	SYSTEM	\$3,154.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user jessem1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
			- Total				\$0.00	
		Material - Tota	il				\$0.00	
		Overrun	Overrun	15	Sep 2, 2025	SYSTEM	(\$2,508.00)	
			Overrun - T	otal			(\$2,508.00)	
		Overrun - Tota	al				(\$2,508.00)	
	- Total						(\$2,508.00)	
1270	PULL BOX, PREFORMED CLASS 1	Construction Stockpile STMI		10	Jun 16, 2025	SYSTEM	\$4,296.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$4,296.00	
		Construction	Stockpile STI	VII - Total			\$4,296.00	
1270 1330	- Total POWER SUPPLY	Construction		10	Jun 16,	SYSTEM	<b>\$4,296.00</b> \$11,974.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	ASSEMBLY, TYPE 2, 240/120	Stockpile STMI	- Total		2025			
			- Total				\$11,974.00	



1980   POWER SUPPLY A SEMENT YIVE   2, 24017 20   Feb. 2, 24017 20
153   CONDUIT - 2   IN   PREVENTH WITH TRACER WIRE     15   Sep 2   SYSTEM   S1,512.50
TRENCH WITE
15   Sep 2, 2025   SYSTEM   \$1,512.50   This adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment (10023) due to user jessem1 overridding Payr Estimate Item Adjustment generated Stockpile Transaction Stockpile Transaction Stockpile STMI - Total S11,262.00    1570 - Total
1530 - Total
1530 - Total   1570   CONDUIT, 3 IN, PUSHED WITH TRACER WIRE
1570   CONDUIT, 3 IN., PUSHED WITH TRACER WIRE   15   Sep 2, 2025   SYSTEM   \$3,780.00
PUSHED WITH TRACER WIRE
15   Sep 2, SYSTEM   \$3,780.00   This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (025) due to user jessemt overridding Payment Estimate Exception 29 on the current Payment Estimate.    1570 - Total
Material - Total   \$0.00
1570 - Total   S0.00   PULL BOX, PREFORMED CLASS 2   Construction Stockpile STMI - Total   S11,262.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S10,068.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S2,342.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S2,342.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S10,068.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S10,068.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S10,068.00   Payment Estimate Item Adjustment generated Stockpile   Payment   S10,068.00   Payment Estimate Item Adjustment generated Stockpile Transaction   S10,068.00   Payment Estimate Item Ad
1610 PULL BOX, PREFORMED CLASS 2
PREFORMED   CLASS 2   Stockpile   STMI   - Total   \$11,262.00
Total   \$11,262.00
1610 - Total
1620 PULL BOX, PREFORMED CLASS 3
PREFORMED CLASS 3  Stockpile STMI  - Total  S3,068.00  1620 - Total  1630 PULL BOX, PREFORMED CLASS 5  CLASS 5  Construction Stockpile STMI - Total  10 Jun 16, 2025  SYSTEM \$2,342.00  Payment Estimate Item Adjustment generated Stockpile Transaction \$2,342.00  Construction Stockpile STMI - Total  \$2,342.00  1630 - Total  SEWER - UTILITY ITEM  Material  6 Apr 16, 2025  6 Apr 16, 2025  Finis adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Item Adjustment (0005)
Total   \$3,068.00
1620 - Total   \$3,068.00
1630 PULL BOX, PREFORMED CLASS 5   Construction Stockpile STMI   10
PREFORMED   Stockpile   STMI   - Total   \$2,342.00
Construction Stockpile STMI - Total  1630 - Total  1980 SEWER - UTILITY ITEM  Material  6 Apr 16, 2025  6 Apr 16, 2025  5 SYSTEM (\$4,345.25)  This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payr
1630 - Total  1980 SEWER - UTILITY Material 6 Apr 16, 2025 (\$4,345.25) 6 Apr 16, 2025 SYSTEM 2025 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payr
1980 SEWER - UTILITY Material  6 Apr 16, 2025  6 Apr 16, SYSTEM (\$4,345.25)  6 Apr 16, 2025  7 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payr
ITEM  2025  6 Apr 16, SYSTEM \$4,345.25 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payr
2025 Estimate Item Adjustment (0005) due to user jessem1 overridding Payr
Estimate Exception 3 on the current Payment Estimate.
7 May 2, 2025 SYSTEM (\$4,345.25)
7 May 2, 2025 \$YSTEM \$4,345.25 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0004) due to user jessem1 overridding Payr Estimate Exception 3 on the current Payment Estimate.
8 May 16, 2025 SYSTEM (\$4,345.25)
8 May 16, 2025 \$4,345.25 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0005) due to user jessem1 overridding Payr Estimate Exception 3 on the current Payment Estimate.
Estimate Exception 3 on the current ayment Estimate.
9 Jun 2, 2025 SYSTEM (\$4,345.25)
9 Jun 2, SYSTEM (\$4,345.25)
9 Jun 2, 2025 (\$4,345.25) 9 Jun 2, 2025 SYSTEM \$4,345.25 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0014) due to user jessem1 overridding Payr
9 Jun 2, 2025 (\$4,345.25) 9 Jun 2, 2025 SYSTEM (\$4,345.25) 10 Jun 16, SYSTEM (\$4,345.25)  (\$4,345.25) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jessem1 overridding Payr Estimate Exception 3 on the current Payment Estimate.
9 Jun 2, 2025 SYSTEM (\$4,345.25) 9 Jun 2, 2025 SYSTEM \$4,345.25 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0014) due to user jessem1 overridding Payr Estimate Exception 3 on the current Payment Estimate.  10 Jun 16, 2025 SYSTEM (\$4,345.25)  10 Jun 16, 2025 This adjustment offsets the original system-generated Material Paymen Estimate Item Adjustment (0024) due to user vandoe1 overridding Payr Estimate Item Adjustment (0024) due to user vandoe1 overridding Payr



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	1980 -	Total						\$0.00	
	1990	SEWER - UTILITY ITEM	Material		4	Mar 17, 2025	SYSTEM	(\$298.00)	
					4	Mar 17, 2025	SYSTEM	\$298.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jessem1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1990 -	Total						\$0.00	
	2050	SEWER - UTILITY ITEM	Material		4	Mar 17, 2025	SYSTEM	(\$9,504.00)	
					4	Mar 17, 2025	SYSTEM	\$9,504.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	2050 -	Total						\$0.00	
	2060	SEWER - UTILITY ITEM	Material		4	Mar 17, 2025	SYSTEM	(\$12,100.00)	
					4	Mar 17, 2025	SYSTEM	\$12,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jessem1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	2060 -	Total						\$0.00	
	2120	SEWER - UTILITY ITEM	Material		4	Mar 17, 2025	SYSTEM	(\$750.00)	
					4	Mar 17, 2025	SYSTEM	\$750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	2120 -	Total						\$0.00	
	2180	MISC. MANHOLES AND DROP	Material		4	Mar 17, 2025	SYSTEM	(\$520.00)	
		INLETS			4	Mar 17, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					5	Apr 3, 2025	SYSTEM	(\$520.00)	
					5	Apr 3, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jessem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Apr 16, 2025	SYSTEM	(\$520.00)	
					6	Apr 16, 2025	SYSTEM	\$520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user Jessem1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	2180 -	Total						\$0.00	
	2190	MISC. MANHOLES AND DROP	Material		4	Mar 17, 2025	SYSTEM	(\$1,040.00)	
		INLETS			4	Mar 17, 2025	SYSTEM	\$1,040.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jessem1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					5	Apr 3, 2025	SYSTEM	(\$6,240.00)	
					5	Apr 3, 2025	SYSTEM	\$6,240.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jessem1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Apr 16,	SYSTEM	(\$6,240.00)	



Project   Line   Description   Adjustment Type   Adjustment Type   Adjustment Type   Adjustment Type   Adjustment Type   Adjustment Payment Esting	n1 overridding Payment ate.  ed Material Payment n1 overridding Payment
AND DROP INLETS  6 Apr 16, 2025 \$YSTEM \$6,240.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0007) due to user jessen Estimate Exception 6 on the current Payment Estimate Total  2000 WATER - UTILITY ITEM  4 Mar 17, 2025 \$YSTEM \$422.50 This adjustment offsets the original system-generate Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment	n1 overridding Payment ate.  ed Material Payment n1 overridding Payment
INLETS  6 Apr 16, 2025 SYSTEM \$6,240.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0007) due to user jessen Estimate Exception 6 on the current Payment Estimate Item Adjustment (0007) due to user jessen Estimate Exception 6 on the current Payment Estimate Item Adjustment offsets the original system-generate Estimate Item Adjustment offsets the original system-generate Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Item Adjustment (0010) due to user jessen Estimate Item Adjustment of Item Adjustment (0010) due to user jessen Estimate Item Adjustment (0010) due to user	n1 overridding Payment ate.  ed Material Payment n1 overridding Payment
Material - Total   \$0.00	n1 overridding Payment
2190 - Total   \$0.00	n1 overridding Payment
2200 WATER - UTILITY ITEM  4 Mar 17, 2025  4 Mar 17, 2025  5 YSTEM \$422.50  This adjustment offsets the original system-generate Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception	n1 overridding Payment
ITEM  2025  4 Mar 17, 2025  8422.50 This adjustment offsets the original system-generate Estimate Item Adjustment (0010) due to user jessem Estimate Exception 1 on the current Payment Estimate Exception 1 on the current Payment Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 5 on the current Payment Estimate Exception 6 on the current Payment Estimate Exception 1 on the current Payment Payment Estimate Exception 1 on the current Payment Paymen	n1 overridding Payment
2025 Estimate Item Adjustment (0010) due to user jessen Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Payment Estimate Exception 2 on the current Payment Payment Payment Payment Payment Payment Paymen	n1 overridding Payment
Total   \$0.00	
Material - Total   \$0.00	
2200 - Total  2230 WATER - UTILITY ITEM  Overrun  Overrun  11 Jul 1, 2025  13 Aug 4, 2025  SYSTEM  \$6,400.00 Unit price based on averaged overrun adjustments of previous payment estimates. Price Adjustments of ', 'is applied (if non-zero).	
2230 WATER - UTILITY ITEM  Overrun  Overrun  11 Jul 1, 2025  13 Aug 4, 2025  SYSTEM (\$6,400.00)  Unit price based on averaged overrun adjustments of previous payment estimates. Price Adjustments of ', 'is applied (if non-zero).	
ITEM  2025  13 Aug 4, SYSTEM \$6,400.00 Unit price based on averaged overrun adjustments f previous payment estimates. Price Adjustments of ', 'is applied (if non-zero).	
2025 previous payment estimates. Price Adjustments of ', 'is applied (if non-zero).	
Overrun - Total \$0.00	
Overrun - Total \$0.00	
2230 - Total \$0.00	
2250 WATER - UTILITY Material 12 Jul 16, 2025 (\$10,400.00) 12 Jul 16, SYSTEM \$10,400.00 This adjustment offsets the original system-generate	ad Material Payment
2025 Stimate Exception 5 on the current Payment Estimate E	n1 overridding Payment
13 Aug 4, 2025 SYSTEM (\$10,400.00)	
Aug 4, 2025 SYSTEM 2025 SYSTEM 2025 This adjustment offsets the original system-generate Estimate Item Adjustment (0030) due to user jessen Estimate Exception 12 on the current Payment Estin	n1 overridding Payment
14 Aug 18, 2025 (\$10,400.00)	
Aug 18, 2025 \$10,400.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0020) due to user jessen Estimate Exception 13 on the current Payment Estim	n1 overridding Payment
- Total \$0.00	
Material - Total \$0.00	
2250 - Total \$0.00	
2260 WATER - UTILITY Material 4 Mar 17, SYSTEM (\$7,580.00)	
4 Mar 17, 2025 SYSTEM \$7,580.00 This adjustment offsets the original system-generate Estimate Item Adjustment (0011) due to user jessem Estimate Exception 2 on the current Payment Estimate	n1 overridding Payment
- Total \$0.00	
Material - Total \$0.00	
2260 - Total \$0.00	
2280 WATER - UTILITY Construction Stockpile 6 Apr 16, SYSTEM (\$7,098.68) Payment Estimate Item Adjustment generated Stock	кріle Transaction
9 Jun 2, 2025 SYSTEM (\$21,197.47) Payment Estimate Item Adjustment generated Stock	cpile Transaction
14 Aug 18, 2025 SYSTEM (\$43,380.85) Payment Estimate Item Adjustment generated Stock	cpile Transaction
Sep 2, 2025 SYSTEM (\$53,039.00) Payment Estimate Item Adjustment generated Stock	cpile Transaction
- Total (\$124,716.00)	
Construction Stockpile - Total (\$124,716.00)	
Construction 5 Apr 3, SYSTEM \$124,716.00 Payment Estimate Item Adjustment generated Stock Stockpile STMI	cpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
iP3433	2280	WATER - UTILITY ITEM	Construction Stockpile STMI	- Total				\$124,716.00	
			Construction	l Stockpile STI	MI - Total			\$124,716.00	
			Material		4	Mar 17,	SYSTEM	(\$24,800.00)	
					4	2025 Mar 17,	SYSTEM	\$24,800.00	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0012) due to user jessem1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	2280 -	Total						\$0.00	
	2290	WATER - UTILITY ITEM	Construction Stockpile		14	Aug 18, 2025	SYSTEM	(\$72,261.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$72,261.00)	
			Construction	Stockpile - To				(\$72,261.00)	
			Construction Stockpile STMI		5	Apr 3, 2025	SYSTEM	\$72,261.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$72,261.00	
			Construction			0 0	0)/07514	\$72,261.00	
			Overrun	Overrun	15	Sep 2, 2025	SYSTEM	(\$4,730.00)	
			O	Overrun - T	otai			(\$4,730.00)	
	2290 -	Tatal	Overrun - Tota	all				(\$4,730.00)	
	2300	WATER - UTILITY	Construction		10	Jun 16,	SYSTEM	(\$4,730.00) (\$10,956.06)	Payment Estimate Item Adjustment generated Stockpile Transaction
	2300	ITEM	Stockpile		11	2025 Jul 1,	SYSTEM	(\$45,086.94)	Payment Estimate Item Adjustment generated Stockpile Transaction
						2025	OTOTEN	(ψ+0,000.0+)	Taymon Estimate from Adjustment generated stockpile Harisdotton
				- Total				(\$56,043.00)	
			Construction	Stockpile - To	otal			(\$56,043.00)	
			Construction Stockpile STMI		5	Apr 3, 2025	SYSTEM	\$56,043.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$56,043.00	
			Construction	Stockpile STI	MI - Total			\$56,043.00	
	<b>2300</b> - 5005	WATER - UTILITY	Material		10	Jun 16, 2025	SYSTEM	<b>\$0.00</b> (\$5,157.86)	
					10	Jun 16, 2025	SYSTEM	\$5,157.86	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user vandoe1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	5005 -	Total						\$0.00	
	5008	TEMP. TRAFFIC BARRIER	Material		10	Jun 16, 2025	SYSTEM	(\$126,500.00)	
		ANCHORED., CONT			10	Jun 16, 2025	SYSTEM	\$126,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user vandoe1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Overrun	Overrun	12	Jul 16, 2025	SYSTEM	(\$160,105.00)	
					13	Aug 4, 2025	SYSTEM	\$160,105.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',55.00000 - 55.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	5008 -	Total						\$0.00	
								,J	



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
33 5	5009	PAVEMENT EDGE TREATMENT	Material		14	Aug 18, 2025	SYSTEM	(\$17,583.55)	
					14	Aug 18, 2025	SYSTEM	\$17,583.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user jessem1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	5009 -	Total						\$0.00	
	5012	MISC. MANHOLES AND DROP INLETS	Material		15	Sep 2, 2025	SYSTEM	(\$7,800.00)	
					15	Sep 2, 2025	SYSTEM	\$7,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user jessem1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	5012 -							\$0.00	
į	5013	CLASS B-1 CONCRETE (CULVERTS)	Material		10	Jun 16, 2025	SYSTEM	(\$111,337.36)	
					10	Jun 16, 2025	SYSTEM	\$111,337.36	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user vandoe1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					11	Jul 1, 2025	SYSTEM	(\$111,337.37)	
					11	Jul 1, 2025	SYSTEM	\$111,337.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user jessem1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					12	Jul 16, 2025	SYSTEM	(\$111,337.37)	
					12	Jul 16, 2025	SYSTEM	\$111,337.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jessem1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					13	Aug 4, 2025	SYSTEM	(\$127,412.33)	
					13	Aug 4, 2025	SYSTEM	\$127,412.33	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user jessem1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					14	Aug 18, 2025	SYSTEM	(\$127,412.33)	
					14	Aug 18, 2025	SYSTEM	\$127,412.33	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user jessem1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					15	Sep 2, 2025	SYSTEM	(\$127,412.33)	
					15	Sep 2, 2025	SYSTEM	\$127,412.33	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user jessem1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	l e				\$0.00	
4	5013 -	Total						\$0.00	
	5014	REINFORCING STEEL (CULVERTS)	Material		10	Jun 16, 2025	SYSTEM	(\$61,152.30)	
					10	Jun 16, 2025	SYSTEM	\$61,152.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user vandoe1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	5014 -	Total						\$0.00	
	5020	WATER - UTILITY ITEM	Material		14	Aug 18, 2025	SYSTEM	(\$25,925.00)	
					14	Aug 18, 2025	SYSTEM	\$25,925.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user jessem1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	

Sep 5, 2025



#### Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3433	33 5020 WATER - UTILITY Material - Total					\$0.00			
	5020 - Total						\$0.00		
J5P3433 -	- Total						\$52,197.14		
Overall - Total									

# MoDOT

#### Contract Adjustments for Contract - 241018-D01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 35 of 35